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B OF 36 4 E R
vy A B ﬁ’l 0) i B K
A Ty * :
(mm) | &y B9 T e 0.1m |0.2m|0.3m [0.5m | 1.0m | 2.0m | Py ?EF%E’
BeiE | R YN
I 737.1 2.9 85 0.1 98.5 3.2 2.9 5.4 6.1 8.2 13.7] 65.5 23
I 733.8] 3.5 9.6 0.2 9.1 3.4 5.9 5.6 5.8 7.3 1.8 69.5 32
II 738.2 7.1 11.0, 3.4 2.7 6.7 6.1 8.1 7.8 8.4 10.7 79.7 41
v 737.0]  14.3 18.1] 9.8 8.8 13.3] 12.2 14.1| 12.9 12.5 11.4 83.1 42
v 735.6|  17.9| 20.6] 14.7] 13.9 17.9] 17.0| 18.6| 17.6| 17.0| 13.8 75.7 45
VI 734.4|  20.3] 22.8 17.4| 16.6) 20.7] 19.7] 21.2] 20.2 19.8 15.5 81.1 59
VI 734.0]  25.0| 27.8 22.2| 21.5 25.0| 23.8 25.7 24.5 23.7 18.2 83.0 72
VI 734.8 24.6| 28.1 22.3 21.7) 26.0 24.7) 26.9 25.7| 25.2 19.6| 86.7 76
X 737.8|  23.1| 27.5] 20.5| 19.8 24.2) 23.1) 25.2| 24.7] 24.8 20.6| 86.0 66
X 738.2]  17.0| 21.0| 14.5| 14.0 18.3] 17.5 19.7] 19.9| 21.1] 20.4 80.2 59
X1 739.1 12.2) 16.0| 8.8 7.7/ 12.1] 11.9 14.7 15.1] 16.5 18.5 64.7 36
X1 736.5 6.6/ 11.1] 8.9 2.2 7.0l 6.8 9.7 10.4/ 12.4/ 16.3] 51.1 2
e 736.4 14.5 18.5 11.5| 10.5/ 14.8 14.1| 16.2] 15.9] 16.4] 15.9 75.5 21
A & P % H
A @9 s | & & |as| 5 b & x| & B #A| & |6
%:éﬁi'g LN A b R = |Clear| Cloudy | Sunless| L
I 5.9 3 3 0 4 18 8 5 1 o 18
I 5.1 5 0 0 1 13 9 7 3 1] 18
il 6.1 3 0 0 5 11 1 11 4 0 2
v 6.2 0 0 0 9 16 13| - 6 0 0 0
v 6.6 0 0 0 8 8 17 7 7 0 0
VI 5.4 0 0 o 13 5 17 8 1 0 0
VI 0 0 2 3 4 11 1 0 0 0
i 3.0 0 0 4 8 6 11 1 0 0 0
X 3.0 0 0 0 7 9 14 9 1 0 0
X 3.8 0 0 110 5 22 18 1 0 0
XI 3.2 ¢ 0 1 3 16 8 7 0 0 0
X1 2.6 0 0 0 3l 25 6 3 0 1 0
£ n 3 8 74 136 147 83 18 2 38
* REIB A
KER O 6
BoR (F¥) I L, 2,
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2.1 3.4 149.5] 48 es.5] 20.00 24| 10 9 4 2 0 0
*|
2.7 4.2l 148.5] 49| 78.6] 41.8 6 g . 7 3 3 0 0
1.9 5.2l 143.20 39 183.1 59.00 26| 120 11 6 5 1 0
2.5 4.8 181.3 46| 193.0 77.0, 26 15| 12 7 4 1 0
2.2 6.5| 141.2 33 159.1  61.7 3 17 14 9 6 1 0
2.1 6.8| 127.9 30| a306.7] 152.00 =28l 18 12 8 5 1 1
3.1 6.1 175.4 40| 37.1 19.0, 17 8 4 2 2 0 0
2.4 5.7 143.8 35 76.6| 16.4 28 15 10 4 3 0 0
2.7 5.8 127.7| 85| 153.3  75.4 80| 17| 11 6 4 1 0
1.3 7.9 48.6 14 420.7 95.5 9 23 17 13 10 3 0
1.9 3.8 114.1 37| =200.6/ 85.8 22 12 = 9 7 5 1 0
1.8 2.9] 186.00 51 31.5  13.3 17 7 4 3 1 0 0
%
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# o -
O S i
T KRE  BEK | EE
+ | H | = ¢) g oW = H ¥l A % A
(ZEDTEN (mam)
0 B9 ! £ | A B | & | 8| =
0 15 2 2 2w 4am| | =30 | 36 | VI 6 | w6 | X | 24
0 2 3 2
0 o o | oE R R =25° | 36 v 26 36 X 19
0 0 0 O B @waim | <o | 3 | XU | 29 | 386 | I | 27
0 0 0
o o o " L 35 XI 20 36 I 18
0 0 o g e L 35 | X1 | 26 | 36| I | 10
0 0 0
o o o = X 35 | XI | 28 | 36 | M | 27
0 9 ! & 5 5 36 I 26 36 m 28
5 0 0
40 5 7 & 7K o 35 | XI 21 36 il 10




9%

Wofn 37 4 = £
= It Hy & 3
iz 'y feo ® S - = "
(K A5) : YT
tmm) T o | P9 9 % 0o.1m{0.2m|0.3m |0.5m | 1.0m | 2.0m iy | EfE
w=E | R DEIN
I 733.8 3.7 9.20 0.9 99.9 3.6/ 3.3 6.0| 6.6/ 8.5 13.8 47.0 22
I 737.0 4.4 9.6 1.4 99.5 4.9 4.4 6.8 6.7 8.0 12.1f 47°1 23
m 735.2 7.4/ 12.4] 3.3 2.0 7.0 6.6/ 8.8 8.5 9.5 11.71 52.1 28
v 738.6 13.0, 16.1 8.7 6.8/ 11.7| 10.7] 12.9 11.9 12.0/ 11.9] 60.0 34
A4 735.6 17.1 20.2 18.5] 12.2] 16.4] 15.2| 17.0] 16.3 16.1 13.5] 69.9 39
VI 734.3 18.8| 21.7 16.0] 16.1| 20.1| 18.6] 20.7] 19.9] 19.6 15.9] 75.9 38
VI 734.8|  22.3) 24.7 19.9| 19.8] 23.5/ 21.4 23.6| 22.4/ 21.8 18.0] 85.1 75
VI 735.9| 25.2 28.5 22.7| 21.9 26.1| 24.6/ 26.7| 25.6| 25.1] 19.5 81.5 66
X 737.8]  22.3| 25.6] 19.8] 19.1| 24.1] 23.0 24.9| 24.4 24.8 20.5 79.1 57,
X 740.0  15.1] 18.7] 12.7| 11.5| 16.8/ 16.1] 18.3] 19.0] 20.4 =20.0| 82.7 63
XI 740.6 10.5| 14.4] 7.9 7.0 11.7] 10.9 13.6 14.2 15.7| 18.0| 80.0 40
XI 738.3 7.6/ 12.00 3.9 2.3 6.4 5.8 8.4 9.1 10.8 15.7 69.6 26,
i 736.8] 14.0] 17.8 10.9 9.8 14.4] 13.4 15.6/ 15.4] 16.0, 15.9 69.2 22
A, & HE E H
A S T e e e AL AL e
%q‘zlﬁ,:il, mAR | X A E4 = [ Clear Cloudy |Sunless| -« U
I 2.8 0 1 0 0 2 23 3 1 0 3 8
I 2.4 2 0 0 0 1 18 8 3 0 0 5
il 2.6 2 1 0 0 2 16 10 10 0 0 0
v 2.8 0 0 0 0 4 9 12 6 0 0 0
\%4 2.2 0 0 1 0 5 8 18 13 0 0 0
Vi 3.1 0 0 0 1 9 3 25 19 0 0 0
VI 1.7 0 0 0 0 8 1 24 13 0 0 0
VI 2.4 0 0 0 0 2 6 13 5 1 0 0
X 1.9 0 0 0 0 2) 8 12 10 0 0 0
X 2.6 0 0 0 0 5 10 16 14 0 0 0
X1 2.6 1 0 0 0 6 9 14 13 0 o 0
XTI 2.6 0 0 0 2 o 13 11 4 0 6 1
4 2.5 5 2 1 3 46, 124 166 111 1 9 14
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A o le % 24 B 0W B
wn | wE | E (A
(mm)| (mm) | & |& = |HEHE (mgm) H |[=0.1/=1.0 =5 | =10| =50 | =100
2.1 2.2 188.7 61 66.9 46.8 1 5 5 3 1 0 0
2.2 3.4 158.7] 52 12.3 5.5 8 4 3 1 0 0 0
2.3 4.2 161.20 44 1411 43.0 15 14 12 9 5 0 0
2.3 5.5 157.2 40| 197.1 40.1 10 10 7 7 6 0 0
1.7 6.5| 138.7, 32| 400.6| 87.4 27 14 14 11 9 3 0
1.3 8.6 54.7] 13 278.6  69.4 4 17 16 9 7 2 0
|
1.5 8.7l 65.1 15| 250.00  60.3 9 19 17 10 7 1 0
2.6 5.7  163.1 39|  97.4]  39.4] 20 10 6 3 3 0 0
2.8 5.3  97.9 26| 65.4 19.9 22 10 9 5 2 0 0
2.1 5.80 119.3 34 239.20 142.2 11 15 11 5 4 2 1
1.5 5.6f 92.2 30| 248.6] 74.1 16 12 10 6 6 1 0
1.7 460  99.70 83 92.1 26.4 3 13 11 7 2 0 0
20 5.5 1496.5 34 2089.3 142.2] X1 143 121 76 52 9 1
% .
B OIRE | K| MB
a | + o ® oW = O | H S A
[CZE) [GZED)
0 9 0 € | Rl m & | A | =
0 5 0 1 pwmsm| | =800 | 37 VI | 25|37 | K 9
0 0 0 0
o 0 0 0 a4 5 >25° 37 v 22 37 X 6
0 © 9 9 B & & & <o0° | 37 I 16 37 m 25
18 0 0 0
13 o o o 5 L 36 | NI 8 | 87 1 18
20 0 0 qd = i Ll 37 | 1 | 23 | 87 | O | 27
12 0 0 2
1 0 0 o = * 37 I 25 37 i1 2
1 0 1 z = 5
0 0 0 0
65 16 1 6 i K 4 36 XI 26 37 I 27
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W fn 38 4 = %
5 1 7H 5
B Ok
(mm) o Ei,? 12 HFE |0.1m |0.2m |0.3m [0.5m | 1.0m |2.0m | iy %%F[B‘ig
RE | DEN
I 728.9 3.2 8.1 99.¢ 97.9 3.7] 2.7 4.7 6.2 8.2 13.4 55.1 20
I 735.2) 2.4 8.0 99.4 98.3 5.0 3.1 4.2 5.5 6.8 11.8 47.8 12
m 737.9 7.1 10.5 2.8 1.6 7.4/ 5.4 6.6/ 7.2 7.9/ 10.8] 56.3 16
v 740.9 12.4 16. 8.9 8.2 13.0] 11.1] 12.5 12.3] 12.20 11.1] 63.2 29|
A% 737.0, 16.6/ 19.3| 13.6] 13.1 17.4] 15.3] 16.9] 16.4 15.9] 13.1] 78.4 47
VI 735.6] 19.5| 22.7] 16.8] 16.9| 19.7{ 18.3] 20.2] 19.4] 18.8 15.4] 81.2 62
VI 735.0 22.6/ 25.6/ 20.0] 20.3] 23.4/ 22.8 24.1 23,2 22.7| 17.3 81.7 57
VIl 732.9 23.8) 26.7) 21.3] 21.3 25.8 23.6/ 25.1 24.8| 24.4 19.2 79.3 67
X 734.9 19.6| 22.7 17.3| 16.3] 22.4) 21.6, 21.0] 22.2 23.0 20.1| 74.2 36
X 738.1 14.3 17.6 12.0| 11.0, 17.1] 16.3 15.5/ 17.5 18.6] 19.2] 74.3 48
X1 738.6 10.9, 15.0 8.3 7.1 13.4/ 12.7/ 1i.7] 13.9 15.1 17.1] 63.1 36
X1 738.1 7.6 11.8/ 4.6 2.9/ 9.4 8.5 7.3 10.0] 11.6/ 15.3] 61.3 29
R 736.1 13.3) 17.0| 10.4/ 9.6 14.8/ 13.5 14.2 14.9 15.4 15.3] 68.0 12
i 3 % H
A @ s &8 we| 5 w2 x 5 om|PAl B |8
?g'ﬂf@ Bk | x R | = |Clear|Cloudy Sunless — | u | L
I 2.3 6 0 1 0 24 2 0 0 24 23
I 2.4 6 1 1 2 15 7 0 0 20 22
il 3.0 5 0 0 1 11 15 10 0 7 7
v 2.6 0 0 0 8 11 14 10 0 0 0
A% 2.4 0 0 2 16 2 26 23 0 0 0
VI 1.7 0 0 0 19 3 21 10 0 0 0
VI 1.3 0 0 0 15 2 20 7 0 0 0
Vil 1.7 0 0 1 6 3 19 9 0 0 0
X 1.9 0 0 0 8 4 20 12 1 0 0
X 2.8 0 0 0 10 8 18 7 0 0 0
Xt 3.2 0 0 1 3 7 9 3 0 2 0
X 3.2 0 0 0 4 18 7 3 0 5 3
4 2.4 17 1 6 92 108 178 94 1 58 55
*RHEIA H
%R VI 28, X 25, X 9, 19, 26, 27, X1 7, 25

HEarsd XT3
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4 = BEME T E@E YK E FE
i - —_— f2 x  # # 5 B K B %%
! | ®OK 2 MW &
e = #oEr
= p=A
(mm) | & S MR (mm) (m%n) H |=0.1|=1.0| =5 | =10 | =50 |, =100
2.2 1.9] 203.26 65) 27.7 19.4 5 5 3 1 1 0 0
2.2 3.9 172.90 57 41,2 17.9 8 12 5 4 1 0| 0
2.0 5.5 136.85 37 190.9 57.5 16 15 11 9 6 1 0
2.0 5.4 150.50 38| 108.3 43.9 23 14 7 6 4 0 0
1.2 8.5 48.55 11| 309.00 81.5 17 24 20 13 10 1 0
1.8 7.8 87.55 200 351.0, 119.0 4 18 12 11 9 2 1
2.1 7.6| 106.20 24| 178.4 48.2 23 16 10 6 6 0 0
2.5 7.1 114.35 28] 191.0 116.1 28 10 7 4 3 1 1
21 7.6 90.30] 24| 151.5 48.0 25 13 11 5 5 0 0
2.§ 6.7| 133.55 38| 530.4f 117.0 26 21 13 8 8 4 2
% %
2.5 4.8 145.45| 49| 180.8 72.1 7 8 5 5 3 2 0
2.1 3.4 186.65 62  46.3 11.0 4 11 7 4 3 0 0
* %
2.1 5.9| 1576.11 36| 2306.5| 119.0f VI4 167, 111 76 59 1 4
w & * i
B | RE | K | ®E
+ H B4 o #Moom #= o ) H # A
(HFFm) (BRI
0 19 0 0 A g ' A .
© a0 I mmam | =30
2 4 3 0
o o o & ® & R >25° | 38 A% 25 38 X 19
0 0 1| a - o
b (v o0 37 Xt 23 38 m 23
0 0 0
o o a B L 37 XI 9 38 m 12
9 0 A = i L) 37 | X0 | 81 | 88 | M | 12
0 0 1
o o o ® Y4 37 XI 22 | 38 m 13
° 9 9 = = = |87 | X1 | 22 | s | I | 13
4 0 1
39 6 5 ha 7K H
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v oy| R B & () i B

%J(g % & i

(mm) i %g éﬁ #13 [0.1m |0.2m |0.3m |0.5m | 1.0m |2.0m | 33 %EE{%
1 738.3 3.6) 7.2 1.5 0.6 6.4 5.6/ 4.5 7.1 8.9 13.5 58.2 28
I 738.8 1.5 5.8 99.3 98.6) 4.7 4.1 3.0 5.1 6.7] 11.5 54.9 22
m 736.6 5.7 10.6] 2.6/ 1.3 7.0 6.6 5.9 6.7 7.4 10.3] 57.6 18
\Y 740.5|  14.1] 17.4) 10.7] 10.4 14.1] 13.8] 14.0 1.1 12.5 11.0| 75.4 43
v 737.3|  17.2 20.5| 13.5| 12.5 17.8 17.4 17.0| 17.0| 16.5 13.3| 66.9 30
VI 732.20  19.0| 22.0| 16.4 15.5 19.8 19.6/ 19.6/ 19.0| 18.8 15.4/ 78.0 49
VI 733.0]  23.3] 26.2| 20.5| 20.1 23.8| 23.8 23.7] 22.7] 21.9 17.1] 81.2 51
i 733.9| 24.9| 27.8 22.6| 22.3 27.1 26.9 26.6| 25.9 25.3 19.0 81.9 69
X 736.1]  20.5 23.9| 18.5| 18.0 23.7| 23.4 22.7, 23.6 24.1| 20.3] 81.0 64
X 739.2]  14.7] 17.8] 12.3] 10.9] 17.9 17.0 15.8] 18.1] 19.5 19.6] 70.7 41
X 737.7)  11.00 14.5| 7.5| 5.6/ 12.9 12.0] 10.8/ 13.6| 15.4 17.7} 61.5 33
pui 738.9 6.6 10.5 3.6 2.0 8.7 7.6 6.5 9.4 11.7 15.¢/ 51.8 20|
A 736.9 13.5 17.0, 10.8 9.8 15.3 14.8 14.2| 15.1] 15.7| 15.4 68.3 18

A - 5 % H

@ s g &8 &8 % |ow |2 x| & ®|#&| & |88

?gﬁg A | X A b Z = |Clear| Cloudy | Sunless| ] (]
I 3.7 3 1 1 6 10 20 9 7 7
I 4.2 8| 1 0 1 8 15 8 0 14
i 3.6 5 0 0 4 10 16 5 0 3
\Y 3.3 0 0 0 14 3 23 13 0 o
v 2.6 0 0 1 3 8 19 6 0 0
Vi 1.8 0 0 1 4 0 25 7 0 0
VI 1.3 0 0 o 13 5 20 6 0 0
I 1.4 0 0 o 10 4 17 4 0 0
X 3.2 0 0 1 6 2 25 8 0 0
X 3.4 0 0 0 6 7 18 12 0 0
XI 3.5 7.8 0 0 2 2 9 13 3 0 0
XI 3.6/ 8.7 0 0 0 3 8 12 4 3 0
F 3.0 16 2 6 72 74 223 85 10 24
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4 # BEH TEBERITMNK E E
2. = E=X a0 H
v | ez ¥ —— [ 7K = 2 5 B oK ¥
PR om |8 o l® % T
N N G | &
(mm)| (mm) | & @ B EAER (mim) A |=0.1{=1.0] =5 | =10| =50 | =100
1.6 6.8 110.10 35 208.3] 33.8 17 18 16 11 9 0 0
1.9 6.2 119.65 38 100.5 20.1 24 18 12 7 4 0 0
2.6 6.0| 172.25) 47| 177.2]  41.4 7 19 14 8 6 0 0
2.2 8.3| 104.60 271 105.7] 22.7 9 17 11 6 5 0 0
3.0 6.5 191.95 44 283.6) 114.8 1 13 10 7 5 2) 1
3.0 9.0f 90.10 21| 259.4 49.8 27 16 14 10 9 0 0l
2.8 7.4 157.50 36|  26.8 13.5 8 12 6 1 1 0 0
3.1 6.9 164.75 40| 177.2 92.3 20 10 6 5 5 1 0
2.4 8.6 106.00| 29| 170.5| 49.5 23 17 10 7 6 0 0
2.3 6.8 111.90 32| 169.4 62.5 13 16 13 7 6 1 0
2.4 5.6 167.25| 54  70.0]  23.5 9 10 7 4 3 0 0
2.0 5.5 153.55 51 96.2  23.2 17 8 6 6 5 0 0
2.4 7.0l 1649.60 371 1844.8 114.8 \'A| 174 125 79 64 4 1
# W o
[ ﬁﬁ( § B
# O ORE | K| HE
~ | + H ® gowm #=  E # & H
[CZE) (BB #0)
5 5 3 ° 4 A |8 | & | A | 8
2 15 § 9 2 m«m| | =30°| 3 | W 3 | 3 | i | 15
6 5 1 0
19 o o o & # KR =25° | 39 | IV 18 | 39 X 6
2 © 0 9 & & & R < 0° | 39 I 5 39 I 18
16 0 0 2
% o o o Ee) L 38 | XI | 29 | 39 I 22
= o 9 9 = B[ W s | X | 1| s | W | 19
20 0 0 0
8 o o o = X 39 I 4 | 39 m | 27
5 9 9 9 = = 2 | 39 | I | 25| 3 | m 8
4 1 0 0
159 2 10 9 &= K 5] 38 X1 20 39 Juis 19
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oM 40 & = R

g om| R it (C) i %,

. E 3 & ?
B Ok

(mm) o S.i.zﬁ i #% 10.1m [0.2m |0.3m |{0.5m | 1.0m |2.0m | Fg 2{:‘%??&

wE | &K DN

I 736.0 3.8 8.0 0.9 99.6 6.0 5.2 3.8 6.7 8.9 13.4 57.5 29
I 735.2) 3.6/ 8.0 0.5 98.9 6.4 5.7/ 4.5 6.5 8.1 11.9| 59.7 37
i 735.4 5.6/ 10.1 1.7l 0.8 7.8 7.1 5.9 7.6 8.6 11.2] 60.2 23
v 735.4 9.7l 18.3 6.4 5.0 11.3 10.7] 10.0| 10.6 10.9 11.4] 57.0 27
v 734.8]  15.8] 18.8 12.7| 11.6 16.4 15.9| 15.5 15.4| 14.6 12.5| 74.2 36
VI 733.1|  19.8] 22.2 17.1| 16.4) 20.5] 20.3] 20.2| 19.5/ 18.5] 14.8] 79.0 62
VI 731.9]  23.0] 25.2) 20.4] 19.8 23.3 23.2] 23.0 22.6/ 21.8 17.2| 81.1 55
VI 734.2 24.7) 27.5| 21.6] 20.9 26.6) 26.1| 25.7| 25.5] 24.3] 19.0] 76.1 62
X 734.0]  20.4| 23.4] 18.0| 17.4] 22.0| 22.4] 21.7] 22.6| 23.1 20.0| 78.6 54
X 738.7|  15.2) 18.5] 12.4 11.2 17.7] 17.1] 16.0] 18.3] 19.6] 19.3] 70.3 39
XI 738.0  12.3| 16.3 9.9 8.0 14.5| 14.0| 13.0 15.2| 16.4] 18.0] 65.1 37
XI 736.3 7.0 10.5 3.8 2.1 9.3 8.3 7.1 10.1 12.7] 16.1| 61.3 27
£t 735.3 13.4) 16.8 10.5 9.3 15.2] 14.7] 13.9 15.11 15.6/ 15.4| 68.3 23

i, * M & H
A . AR pit | & F | % B | 2E| B | B

?gﬁiﬁg BA | ¥ A = |Clear| Cloudy | Sunless | - J
I 3.8 6.9 4 0 0 3 11 12 4 12 16
i} 3.2 6.9 3 1 0 2 12 10 3 12 16
il 3.2 7.1 2 1 1 o 15 8 4 7 8
I\ 3.1 7.4 1 0 0 1 9 19 9 2 3
v 2.6 7.2 0 0 o 11 3 26 9 0 0
VI 1.9, 5.0 0 0 o 10 0 25 8 0 0
VI 1.6 4.7 0 0 o 16 5 24 13 0 0
I 1.5 40 0 0 0 1 6 11 2 0 0
X 2.5 6.3 0 0 0 9 1 21 13 0 0
X 2.3 9.3 0 0 1 9 9 14 4 0 0
X 3.3 6.8 0 0 2 3 8 19 3 0 0
XI 2.8 6.5 0 2 1 9 9 16 4 13 6
4 27 93 10 4 5 74 88 208 76 % 49
* REIA R

ik (Prg) IV 27, W 2, 3, 4, (RK) VI3, 4, X0 20, REGRREL V, 6, 7, 8
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4 0 HEm T EEBEAMK B B
AL = =1 | 3
s | ¥ H I B =3 7K = = 5 B X B #
s A I T O
KN &7 el e
= ) =
(mm)( (mm) [ & | 3z |BHEx (mm) (m%n) A [=0.1|=1.0| =5 | =10 | =50 | =100
2.0 5.3 162.55 51 60.5 34.9 29 12 8 2 1 0 0
2.4 4.7 183.90 60) 38.2 17.3 20 8| 7 3 1 0 0
3.1 3.7 224.40 61 129.5 64.3 17 10 8 3 3 1 0
2.8 6.4 152.00 39 101.6 29.5 13 10 8 4 4 0 0
%
2.6 8.4 125.50 32l 391.9] 103.8 3 17 16 10 7 4 1
2.2 9.0 122.15 271 284.6 82.7 26 15 13 11 9 2 0
2.2 8.1 90.05 200 157.9 41.4 4 17 11 8 6| o 0l
3.6 6.0 216.75 52| 124.5 64.0 22, 8 5 3 2 1 0
2.5 8.1 114.25 31  215.4 78.5 9 20 14 8 5 1 0
2.9 5.8 191.30 55 114.2 41.1 é 11 7 4 4 0 0
2.4 6.8 134.05 43|  183.8 48.3 25| 15 12 10 5 0 0
2.2 5.7 153.80 51 162.2 42.8 23 10, 8 5 5 0 0
Ed
2.6 6.5 1870.70 42| 1964.3] 103.8 V3l 153 117 71 52 9 1
Es o = i
- - - 5 ES (i
= | RE | K| HEE
N + H ® B oW ®= IE o) & H
(FRFI) (BE#m)
8 mo® 0 € | A | A | & | 8| =
0 130 O % mai| | =80 | 40| VI | 16| 4| @] 2
4 14 1 0
13 3 o | & E A =>25° | 40 VI 27 40 X 29
e 9 9 o mmam| | <o s | X | 138 | 40 W| s
24 0 0 0
15 o o o = U 39 XI 6 40 v 5
30 0 0 9 = ¥ L w0 | 1 3 40 | IV 5
21 0 0 0
2 o o o = V- 40 I 5 40 v 11
7 9 9 9 = B | 40 | I 6 | 90 m 3
3 0 0 0
158 47 4 1 b7 7K H 39 X1 13 40 v 4
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W 1 36 4E = =

vy R B o () & B,

4 JE 7S = ’
B Ok

(mm) o i? i:iéj #13 |0.1m | 0.2m |0.3m {0.5m | 1.0m {2.0m | Fi5 ?ﬁ;@

| R D
1 6o1.5 0.3 . 5.7 94.9 99.8 0.6 1.4 3.4 5.9 9.9 5.5 a7
I 690.8 0.8 6.7, 94.99 0.0 0.9 1.7 3.3 4.9 7.4 56.7 27
i 694.7] 4.1 9.6 98.7| 3.9 4.5 5.3 5.9 6.2 7.2 68.8 40
v 691.7| 12.00 17.3] 5.4 10.4 9.8 10.7 10.5 9.3 8.7 73.9 32
v 691.0| 16.6| 20.3 11.0] 15.9 15.2] 15.4 14.7| 13.2) 11.4 70.5 50
VI 689.7| 18.8| 22.8 13.7| 17.6| 17.5( 17.8 17.3| 15.8 13.8] 75.8 55
VI 689.5 24.1| 27.6| 18.8] 23.2 23.2] 23.4 22.1| 19.8 17.1] 77.4 57,
it 691.3 23.8| 27.5 18.8] 23.3] 23.4 23.8 23.2 21.6| 19.1] 78.5 64|
X 693.2  21.5| 24.9 16.0| 21.4 21.8] 22.5 22.2| 21.5 19.8| 73.7 55
X 696.5  14.3] 17.5| 10.8] 15.4] 16.2 17.0 17.6| 18.4 18.6| 87.0 58
X1 696.1 8.5 14.4 4.0l 9.0 9.9 11.0 12.5| 14.1 15.6] 75.3 51
b 691.8 3.3 8.8 98.0f 3.3 4.5 5.7 7.7 9.8 12.4] 79.7 53
i 692.3 12.3 16.9 7.1| 11.9 12.3 13.0 13.4 13.4 13.4 73.6) 27
* M % A

8 we sl m|=z a2 8 |low & %% B 20| 8 |86

?éaﬂv‘iifg R X | A | & R = |Clear| Cloudy | Sunless| - u L
I 1.2 15.7 5 0 o 20 9 1 1 23 27
il 1.2l 9.8 5 0 1 16 5 1 o 13 25
I 0.7 6.3 5 0 2 16 14 7 0 9 12
v 1.4/ 13.2 1 0 o 14 11 0 0 4 1
v 1.2 12.§ 0 0 0 9 17 3 2 0 0
VI 0 1 0 6 18 6 0 0 0
VI 0.6 4.2 0 3 0 6 17 2 0 0 0
VI 0.5 4.6 0 0 0 4 16 3 0 0 0
X 0.9 17.1 0 0 0 6 14 2 1 0 0
X 0.4/ 6.7 0 0 0 2) 21 11 0 0 0
X 0.8 7.8 1 0 0 12 14 6 0 7 4
X1 0.9 9.8 0 0 o 25 4 1 o 25 22
i 17 4 3 136 160 43 4 81 91
*OREIAE SR CGFHE) T 18, (BR) I 18

BiE (P W 26, (k) WM 26, X 8
RZE& VI 28
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4R H s £ AL H M 5 OA
P ¥ ——— [ T - { g2 5 B X B ¥
F iz} - 73 PN 24 i3 H &7
s | = i at
2 = - (mm) =
(mm) | & B B ESE (mim) A |=0.1|=1.0/ =5 | =10, =50 | =100
2.7 3.4 189.21 61 33.3 16.4 3 19 5 2 1 0 0
2.7 3.1| 197.24 65! 12.4 8.3 6 5 2 1 0 0 0
2.5 4.7 175.12 47 93.7 32.0 26| 21 13 6 3 0 0
3.7 4.5 212.00 54{ 178.6 78.6 15 16| 9 6 5] 1 0
3.2 6.6] 162.35 371 106.1 23.0 18 19 11 7 4 0 0
2.3 7.0| 134.65 31 325.8/ 132.5 27 20 14 10 8 2 1
3.4 6.6| 147.45 33 59.8 10.3 4 22 13 4 1 0 0
3.0 6.8 129.55 31 52.6 16.0 21 21 11 3 1 0 0
3.0 6.4 119.65 32 93.7 65.3 15 16 5 3 2 1 0
1.6 8.3 66.40 19| 378.1 73.3 27 28 15 9 8 2 0
1.7 5'2[ 121.55 39 62.7 15.6, 21 27 8 4 3 0 0
2.6 1.5 188.90 62 18.5 9.6 17 20 2 2 0 0 0
%]
2.7 5.3( 1844.07 42 1415.3 132.5] Vi27[ 234/ 108 57 36 6 i
ek % i
RE | HK | HE
+ Lt 54 o oW F  H N H # H
30 4 (HEF) (FRFm)
A A H 22 A H
28 B m | =80 | % | VI 7 | 36 | KX 6
13 0
3 o B A SR >25° | 36 v 5 36 X 19
0 o = U o
AR <0 35 XI 29 36 v 11
0 1
o . = u 35 X 22 36 v 11
0 0
7B FE 8] 35 X1 27 36 v 10
0 2
o o £ % 35 X 4 36 v 9
4 1 & 5 = 35 Xi 5
23 i=| =3
0
101 15 & Ik o] 35 X1 28 36 v 10
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WO 37 e = ®
vy o B . &) i B,
&K % = i
R Okl
(mm) | gy 8B e |6 im 0.2m | 0.6m |0.5m | 1.0m |2.0m Ty %E{ng
| R DB
I 686.00 99.5 5.4 94.3 04l 1.2 1.9 3.8 6.1 9.1 95.4 90,
I 691.4 2.4 8.1 95.3 0.8 1.9 2.6 3.7 5.0 7.2 79.9 41
i 690.4 5.1 10.5 98.4 3.7 4.8 5.6 6.1 6.3 7.9 61.7 37
v 693.2f  10.3 15.4 4.8 9.1 9.5 10.0 9.7 8.9 8.5 69.6 37
\% 691.0|  15.4 19.1 9.6 13.9 13.9] 14.2 13.7, 12.1 10.8| 65.1 30
VI 689.5| 17.¢ 20.5 13.3 17.8 18.1] 18.3 17.4 16.0 13.9] 79.8 33
VI 690.3|  21.6 24.6 17.¢| 21.3 21.1| 21.3 19.9] 18.2] 16.0] 82.7 63
VIl 691.0 24.8 29.00 19.1] 23.5 23.8 24.3 23.7) 21.9 19.1] 70.2 51
X 692.8]  20.2 23.7] 15.6| 21.0 21.7] 22.4 22.5) 21.9] 20.2] 75.1 57
X 695.00 11.9 16.0 8.5 13.8 15.0 15.9 17.0] 18.1] 18.5 s1.5 64
XI 696.2 6.9 11.1 3.5 7.6 9.1 10.1 12.0 13.7] 15.1| 77.7 31
XI 693.2 2.8 8.6 98.9 1.4 3.5 4.6 6.6 8.9 11.4 6.8 44
iE 691.7| H.;} 16.00 6.6/ 11.2 12.0 12.6 13.0 13.1 13.T 75.>I5< 30,
A & #E % H
8 (m/s) £ | % | ®m |mE| 5 (v e ok |x om|wm| B | B
%ﬁzzj iSO A b R = |Clear| Cloudy Sunless’ ) U ]
I 17 9.4 2 0 23 5 1 o 20 27
II 1.6 9.1 2 0 21 4 0 o 22 =20
i l.g 106 3 0] 17 13 2 1 5 8
v 0 1 12 14 2 0 2
\% 1.3 73 0 0 7 22 5 0 o o
VI 0.9 5.0 0 0 3 23 1 o o o
VI 0.7 5.0 0 0 4 19 10 0 0 0
I 1.1 6.1 0 0 9 1 2 o o o
X 0.9 7.3 0 0 6 17 4 0 o o
X 0.6 3.8 0 0 5 19 1 0 o0 o
XI 0.9 5.7 2 1 12 14 8 0 16 8|
XI 1.2 9.8 1 0 17 9 2 o 23 25
4 10 2 136 170 58 1 88 89
* REIAH

sid (F) T 28, #ifl (2m) X 1, AR I 25, V 29
feps (Pdg) 123, HGE (P#) (Bok) T 14, I 14, V 1, 2
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£ H s BR AL E B MK K
% 7] & = 5 % B
v | v ¥ — B K &= fis I oK g
Rl om | o» ' % 24 W W &
5| ma & g
o
(mm)| (mm) | & |# i |[HE5% (mm) (m%n) H [=0.1/=1.0] =5 | 210 | =50 | =100
2.9 2.9 181.18 58  36.4 22.¢ 1 22 4 2 1 0 0
3.4 2.2 219.28 72 7.3 3.2 26 7 2 0 0 0 0
*|
3.1 4.7 207.95 56  51.7 12.0 1 14 10 5 1 0 0
3.3 5.00 173.90 44/ 105.1 36.4 3 13 8 6 3 0 0
3.1 7.2 153.25 38| 1es.3 812 27 21 12 9 8 0 0
1.9 8.2 92.81 21]  228.0 47.8 10 23 18 11 9 0 0
2.4 7.6| 115.48 26| 178.2  36.6 13| 20 15 12 6 0 0
3.7 5.4| 204.21 49| 256.4 114.0 19 6 5 4 4 2 1
2.2 6.9 131.85 36 87.0 17.3 16 10 6 2 2 0 0
1.3 7.2 115.20 33 111.7 25.4 28 14 11 8 4] 0 0
1.6 5.2 126.75 41 96.7]  43.4 3 15 8 4 3 0 0
2.4 3.6| 172.53 57|  49.3  26.1 30 25 6 2 1 0 0
*
2.6 5.1| 1894.37 43 1321.1 114.00 V19 190, 105 65 42 2 1
& ﬂl_'{ = 5 St
mo = i
B RE | 5K | BB
~ | + H = o B = ) H S H
(RAFR) (BEFm)
o4 0 # | A | B | 4 | A | A
24 O U 2 & «m | =80° | 37 | VI | 23 | 3z | w | 23
8 0 1
o o N A =25° | 37 v 22 | 87 X 3
9 0 VN B | =0 | 36 | XI | 25 | 37 | IV | 19
0 0 0
o 0 0 = u 36 | X 8 | 87 | IV 2
9 0 9 & B L 36 | XU 14| 87 | IV 1
0 0 1
o o o = v 3 | XI | 24 | 37 | I | 21
5 6 9 E = 37 I 1 37 I 24
28 0 0
95 20 o pis o 3 | X | 14| 37 | I 9
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B 188 4 K &
v | R M **ﬂ °C) i ®
A E_(;Kﬁ&) ® =
(mm) | oy ;%;% ni;E #% [0.1m 0.2m | 0.3m 0.5m | 1.0m |2.0m | F
I 683.9 98.8| 3.9 94.2 99.1] 0.6 1.4 3.3 5.8 8.4 71.6
i 691.1 99.8 5.6 94.4| 99.5 0.2 0.9 2.4 4.2 6.4 67.9
m 692.5 3.7 9.2 98.9 2.7 3.9 4.8 5.0 5.3 6.2 60.1
v 696.7 11.0 15.5 5.3 10.0, 10.1] 10.6 10.1 9.0 8.2 64.5
\% 693.3 14.9 19.2] 11.0| 15.7] 15.2 15.4 14.4] 12.7] 11.0] 80.8
VI 691.7 18.3] 21.7] 15.0] 19.0 18.4/ 18.5 17.4| 15.7| 13.9 85.7
VI 693.1 22.1 25.9 18.0| 22.9, 22.7 23.1 21.5 19.4 16.6{ 78.7
VI 691.6  22.5 25.9 18.1| 23.2 23.1 23.6 2.8 21.2 18.8 79.4
X 693.0 16.6) 20.1] 12.8 17.8 18.8] 19.7 19.9 19.9/ 19.1 80.8
X 696.9 12.8] 16.0 8.4| 13.1] 14.4] 15.1 16.0] 16.6] 17.2| 79.3
XI 695.3 8.3 12.6 3.1 7.9 9.5/ 10.6 12.0] 13.3| 14.6] 66.7
XI 694.1 3.6 8.9, 99.6 2.2 4.4 5.4 7.4 9.3 11.6] 64.7
# 692.8 11.0 15.4 6.6 11.1 11.8 12.4 12.7 12.7) 12.7] 73.4
)il N b3 % &l
A (m/e) z | % | ® %588 |[ewe x|& m2a| &
20 | sx| % | A | A | R | = |Clear|Cloudy |Sunless| - L
I 1.6 8.9 3 0 27 1 0 0
I 0.9 6.1 8 0 21 7 0 0
I 1.0, 10.5 7 1 13 12 6 1
v 1.0 7.6 2 2 9 17 8 o)
\% 1.0 6.9 0 10 1 27 9 0
VI 0.5 8.7 0 9 3 25 13 0 [¢]
VI 0.7 5.2 0 4 5 19 4 0 o]
Vi 0.7 5.0] 0 2 3 24 1 0 0]
X 0.5 4.6 0 5 4 22| 11 0 0
X 0.4 5.0 0 3 12 14 8 0 0
X1 0.8 5.0] 0 2 17 8 1 0
X1 0.§ 7.2 0 2 20 7 2 0
v 0.7 10.5 2 4 135 183 63 1 50
* REAR
ERE VI 28, X9, iy (FHy) X 24, 25, (k) XI 24, 25
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& # Ak AL E B K OB OA
e | e ¥ I B A & & 5 B Kk B ¥
S|l om | ® ol m % 24 W W B
I HE j (mni) =
(mm)| (mm) | & |& 2 |5o% (mé'g—m) g |=0.11=1.0| =5 | 210 | =50 | =100
2.9 0.9 179.00] 57 6.6 3.0 20 22 2 0 0 0 0
2.8 2.3 195.10] 64 15.3 8.2 8 16 3 1 0 0 0
2.7 5.1 201.75 55 76.6 17.0, 12 21 13 5 4 0 0
2.8 6.4 166.60 43| 105.3 35.0 8 15 10 7 4 0 0
2.3 9.0 91.35] 21| 149.0 33.1 27 27 15 7 6 0 0
1.9 8.6 69.45 16 221.3 40.3 3 23 13 10 9 0 0
3.1 7.2l 128.30 29| 125.0/ 39.3 23 23 13 9 3 0 0
2.7 8.0l 106.75| 26| 188.3 74.8 28 18 12 8 5 1 0
1.9 8.0 105.35 28 44.9 11.9 30 19i 9 3 2 0 0
1 ; 5.7 129.85 34| 153.3 58.3 9 25‘} 12 7 '3 1 0
1.9 3.6 169.05 55 43.1 24.4 25 18i 6 2 1 0 0
2.1 2.9 181.70 60 32.8 17.2 1 16; 12 2 1 0 o
sk
2.4 5.6| 1724.25 39 1161.5 74.8| V28 243; 120 61 38 2 0
# 3y ) o
] 2= i
T RE | K| EHE
o + b = ® g W ¥ = ) # H
(A FA) [(GZE)
30 2 0 i A g it H H
® é 9O mwmaoE >30° | 38 | VI | 20 | 38 | VI 13
20 6 1 v
3 5 of B E AR >25° | 38 v 17 38 X 1
0 0 | = , R
= I <0 37 | XI 23 38 v 11
0 0 1
o o a = U 37 it 6 38 v 3
q O | = i LI 37 | X 8 | 38 | IV | n
0 0 1
B o o =z Y 37 XI 22 38 v 9
3 9 g i £ 54 37 Xt 22 38 v 10
19 0 0
103 16 5| K [ 37 | XI 23 38 v 10
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WBOR 39 4 = £
- 5 7H 5

¥ % ao L i ;‘; ) (ﬂ; B
R Gk

(mm) Eoy ii’? ijﬁj H# |0.1m |0.2m |0.3m |0.5m | 1.0m |2.0m | £y %EE

B | K YN

I 693.5 0.2] 6.1 96.9] 0.5 2.0 2.9 4.5 6.5 8.9 75.5 34
I 694.8 9.9 3.7 9.1 0. 1.5 2.2 3.4 4.8 6.9 77.7 48
JIi§ 692.8 3.00 8.3 97.6] 1.9 3.4 4.3 4.9 5.3 6.3 66.0 45
I\ 697.2 13.00 17.5 8.1} 12.4 12.0 12.1 11.1| 9.4 8.1] 76.5 43
A% 693. 5] 16.3) 19.8 9.7| 15.4] 14.6] 14.9 14.1) 12.7} 11.2{ 64.3 20
Vi 690.3 17.5) 21.2] 12.8] 17.7| 16.7| 16.8 16.2| 14.8 13.2| 76.5 39
VI 691.5 22.9 26.6/ 18.1| 22.5 21.8 22.0 20.5| 18.3 15.7] 79.9 65
VIl 692.7 24.20 27.4 19.4] 24.4 24.0| 24.6 23.6] 21.7| 18.7] 79.9 64
X 694.2 18.2] 21.3 14.7] 19.7| 20.1| 20.7 20.8] 20.7] 19.7| 85.9 69
X 698.9 12.20 16.1] 7.7] 12.9 14.1] 15.1 16.0/ 17.0| 17.6| 78.0 49
X1 694.6 7.2 13.1| 1.9 6.5 8.0 9.3 11.1) 12.9 14.7] 64.3 30
XI 695.4 2.3 8.0 98.6] 1.8 3.4 4.8 6.6/ 8.7] 11.1 70.2 39
e 694.1 11.4 15.8, 6.7 11.3 11.8] 12.5 12.7} 12.70 12.7| 74.6 20

A * HE % H
A @O Vg g | m | ww B b & x|t W BN B | B

2 #x| % | o | A | R | = Clear| Cloudy |Sunless| = | U | U
I 0.8 8.4 6 2 14 14 6 0 150 21
I 1.0 8.0 10 0 13 11 7 0 8 22
il 1.1 8.4 9 0 16 12 3 0 17 15
A% 0.8 6.5 0 10 5 22 8 0 0 ol
\% 0.9 7.1 0 5 10 16 7 o) 0 0
VI 0.7 6.9 0 0 3 25 7 0 0 0
VI 0.5 5.5 0 9 5 20 7 0 0 0
VI 0.5 4.6 0 7 8 18 2 0 0 0
X 0.4 12.5 0 4 2 20 12 1 0 0
X 0 4 9 16 9 0 0 0
X 0 o 16 7 1 0 15 7
Xt 0.8 5.0 1 o 19 10 5 o 20 19
4 26 41 120 191 74 1 79 84
* REIAH

ok (Fg) I 28, I 18, 23 (k) U 18, 23
#Z%EE W 20, X 24
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i 5 e fR A R 8 Mk K
s | T s —— (7 S 3 2 8 B Kk H
k| om | B TR TS 20 W M B
(mm)| (mm) | = | 3 |[Erx (nﬁn) H |=0.1|=1.0{ =5 | =10 | =50 | =100
1.7 5.1| 134.151 43  76.3  22.7] 28 20 9 5 3 0 0
2.0l  4.7] 150.00 47| 84.9  16.1 o 23 13 8 1 0 0
2.4 4.3 208.65 56| 74.6,  20.4 7 19 10 5 3 0 0
2.1 7.7 122.80 31| 102.0  4l.6 71 20 10 5 3 0 0
2.5 6.1 184.50, 43 52.6, 23.5 1 17 9 3 2 0 0
2.0 8.5 98.10 23 124.¢/ 32.8 18 20 13 8 5 0 0
2.7 7.4 114.50 26| 109.7] 23.5 8 20 13 7 4 0 0
*
2.9 6.71 146.80 35 214.9 64.00 20 23 19 12 7 1 0
*
1.6 8.2 . 54.70 15| 269.2 103.0 24 23 14 8 6 1 1
1.7 6.0l 133.85 38 107.0  32.0 g 22 10 5 4 0 0
2.00 3.9 172.90 56| 38.3 21.6 9 19 3 2 1 0 0
1.9 3.6| 160.05 53]  26.6 7.5/ 25 20 6 2 .0 0 0
*
2.1 5.9 1681.00 38| 1280.7| 103.0 IX24| 246{ 129 70 39 2 1
# Ho® 5 -
- ” al & Jelil
FO|RE | BK HBE
o -+ ) i ] =® H M H #& H
(FEFM) (WA F)
250 15 0 4 A . i A .
28 2 ' 2w 4m|m | =30, | 3 | VI 6 | 39 | W | 17
21 11 2
0 0 o B OA R | z28° | 39 | IV 6 | 39 | X | 25
0 0 | R
BOE &R <0 38 | XI | 28 | 39 | I | 28
0 0 2
0 o o = u 38 X1 12 39 m 29
a 9 9 = & L s8 | Xt | 28 | 89 | WM | 24
0 0 1
o o . = % 39 I 17 | 39 | I | 27
5 0 4 m E = 39 1 17 | 39 m 27
22 1 6
98 56 29 b Vi H 38 XI 28 39 m 28
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W A 40 4R = £
vyl A *ﬁ’* (°C) tid 8
% )& /3 & ’
G T o
Fo¥ Hi;% é{? ##%E [0.1m {0.2m [0.3m |0.5m | 1.0m |2.0m | E#g ?ngljg:
1 691.4 99.6) 5.6, 95.5 99.9 1.4 2.3 4.1 6.1 8.8 66.9 26.5]
o 691.3 0.5 6.6 96.8 0.3 1.9 2.7 3.8 5.0 7.0 62.1 17.0
I 691.1 2.8 8.1 96.5 1.4 3.2 4.0 4.7 5.2 6.4/ 51.9 24.0
I\ 691.8 8.3 13.1 2.0 7.2 7.5 7.9 8.1 7.5 7.3 58.3 18.0
A% 690. 4] 14.9] 19.5 8.8 13.7| 13.0 13.3 12.50 11.1 9.7} 67.7 31.0]
Vi 689.5 18.2 21.8 13.5] 17.8 17.9/ 18.1 17.0 15.3 13.3| 78.4 55.0
Vi 688.2, 21.3] 24.6| 17.3] 21.2 21.0 21.3 20.0| 18.1] 15.8} 80.2 49.0
VII 690.8]  23.7) 27.6 18.0| 23.3 23.2 24.0 23.1 21.2 18.5 71.6]  54.0
X 690.9 17.7| 21.2| 13.4] 18.5 19.2/ 20.3 20.4) 20.3 19.3| 77.5 49.0
X 695.2 12.8/ 17.4 7.1 13.0| 13.7] 15.0 16.1) 17.00 17.5] 67.6 33.0)
Xt 694.9 9.4 14.6/ 3.5 8.3 9.6 10.6 12.00 13.4 14.9] 64.0/  21.0
XI 692.5 2.6 8.4 98.5 1.9 3.8 4.9 6.7 9.1 11.6] 67.4 37.0]
F 691.5 11.0 15.7) 5.9 10.5 11.3 12.0 12.4 12.4 12.5 67.8 17.0
i i P A
A @ N w & & |wk] 5 (v |2 7|5 0| 5a| @ | w6
%%IH%‘:E =R | X A b £ = |Clear| Cloudy | Sunless| - ] L
I 0.8 9.1 4 0 1 21 4 0 22, 25
I 1.0 9.4 3 0 0 21 4 1 20 24
I 1.1 7.6 4 0 0 16 9 3 ) 15
v 0.6 7.6 1 1 6 11 17 6 2 1
\% 0.8 7.6 0 0 4 9 17 6 0 0
VI 0.4 3.8 0 0 7 6 21 5 0 0
VI 0.3 4.8 0 0 4 7 20 10 0 0
I 0.6 42 o 0 0 8 10 2 0 0
X 0.4 9.4 0 0 2 7 18 9 0 0
X 0.6 5.2 0 0 1 18 11 4 0 0
XI 0 0 o 17 10 1 9 3
X 1.1 8.7 3| 0 0 20 9 2| 17 14
4 15! 1 25 161 150 49 75’ 82
* REH A
KRB V 26, VI 22
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4 = Bk BEAXEEK B OAR
v - R [ - E 5 B Kk B K
% # oL x 24 i Fi &
(mm) | & |g = [Es® (mm) (mim) B |=0.1{=1.0 =5 | =210| =50 | =100
2.5  2.5| 184.85| 59| 29.6] 20.4 29 18 4 1 1 0 0
2.9 2.3 222.75 73 9.2 3.8 20 9 2 0 0 0 0
3.9 3.9 248.95 67| 42.8 24.1 17l 15 5 3 1 0 0
2.8 6.8 172.15) 44| 72,70 26.5 29 19 8 3 2 0 0
%k
2.7 6.4 179.90, 42| 324.5 98.3 26 18 13 11 7 3 0
1.8 7.4 98.65 23 213.4 48.9 14 25 15 9 6 0 0
2.4 7.3 106.70, 24| 109.5 = 22.1 13| 23 14 9 4 0 0
ES
3.1 5.4/ 202.35 49| 265.0 169.8 22| 22 8 4 3 1 1
1.8|  7.0| 100.85 27| 255.1 128.20 17| 80 12 7 5 1 1
1.9] 4.8 189.25) 54 72.8 o 29.2| 18 30 4 3 3 0 0
1.7 3.9| 163.75 53| 95.00 45.2 25 29 7 4 2 0 0
1.9 3.7| 158.55 52| 36.20  14.1 28] 24 4 3 1 0 0
*
2.4 5.0[ 2028.70 46) 1525.8) 169.8] VI22| - 262 9 57 35 2 2
H oo
- G ES i
wRE | KK | EES
+ ] &= ® #oo®m = H i 8] % 5]
(GZED) D)
B4 ? & A | \m | & A |#8
24 5 9 mwmsi| | =300 | 4 | VI | 15| 40 VI | 23
27 5 2
, o J ®w s B | =27 0 V| 20| 4w K 5
0 0 | = ; 0
B IE & B <0 39 | XI | 20 | 40 | IV | 22
0 0 1
o o ) % U 39 | X 3| 4 | IV | 16
0 0 O s e L 39 XI | 20 | 40 | IV | 15
0 0 3
o o 3 E x 39 | XI | 17 | 40 | IV | 14
7 © 4 m £ 5 39 | XI 18 | 40 m 24
19 0 0
112 14 2% fr K H 39 XI 20 40 v 12
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B A1 36 4 2 -
gl Ao B *‘L ) i LI
A Gy * :
(mm) o ﬂff:@ Ti9 #3E [0.1m |0.2m |0.3m [0.5m |1.0m |2.0m | SE %gfﬁg
feE | Wi DEN
I 2.0 7.3 9.8 0.7 1.4 2.2 3.2 5.6 7.7 11.0] 67.1 33
o 2.7, 8.1 96.4 1.6 1.7| 2.4 3.3 5.0 6.4 8.9 58.3 30
i} 9.0, 13.9| 1.1 10.3 6.1 6.5 7.1 8.3 8.4 9.1 61.2 30
v 15.5 20.5/ 7.6 19.1| 12.3] 11.8] 12.3 12.5 11.7] 10.9] 58.3 21
\% 19.9| 24.5 13.0] 23.5 17.9 17.1 17.0] 16.9 15.7] 14.0| 69.0 43
VI 22.3 26.7] 15.6] 25.9 21.0, 20.2 20.1 19.8 18.6/ 16.8 72.7 46
VI 27.9] 31.7] 21.9| 31.7| 26.3 25.5 25.1 24.7| 22.7 20.2[ 72.2 56
VIl 28.7 32.7 22.2 34.5 27.8) 27.4 27.1) 27.0] 25.3 22.6 69.1 54
X 26.5 30.3 19.9| 31.0] 25.2 25.2/ 25.2 26.0| 25.5 24.1 67.9 40
X 19.6] 24.2 14.3 21.1 18.6] 19.0; 19.4] 21.1] 21.9 22.5 75.8 56
X1 13.4 17.6 7.3 11.9 11.1 12.5 12.9 15.2 17.0 19.3 65.3 44
Xt 6.3 11.7 0.4 3.5 4.5 6.3 6.6 10.0 12.2 15.6 69.8 45
F 16.20 20.8 9.7| 17.9 14.5 14.7) 14.9 16.0] 16.1] 16.3] 67.2 21
A, e it f H
A @O Vw [ w | w (ww| B ww|e x|7 o we| w0
?éﬂé?%g E7 N A b = |Clear| Cloudy | Sunless| - U ‘ L
I 1.6 8.4 4 2 0 0 10 12 2 o 21 17
I 1.70 9.1 7 0 0 0 7 12 3 o 20 14
m 1.9 8.§ 0 0 0 1 14 11 4 o) 8 1
v 2.3 10.5 0 0 0 0 7 13 3 1 1 o
A% 1.8 10.5 0 0 0 0 3 16 7 1 0 0
VI 1.6 8.0 0 0 0 0 4 21 5 0 0 0
VI 1.4 8.0 0 o 2 0 2 15 3 0 0 0
VI 1.4 8.0 0 0 2 0 2 9 0 0 0 0
X 2.0 20.8 0 0 3 0 7 10 3 4 0 0
X 1.3 9.8 0 0 2 0 8 22 8 0 0 0
XI 1.5 6.5 0 0 0 0 9 13 4 0 5 0
XI 1.5 7.3 1 1 0 0 14 9 2 o 22 10
73 17 08 12 3 | 9 1 & 163 M 6 70
* REIA A
B (k) I 5, I 27, XI 15, 8 (0.2m) XI 26~28
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o 3] B AW OE Bk Row
va | | P | gy | K B g o9 B Ok B K
i'lrf] . AHS Z
7J<;"E % g’z w = | X 24 1= i =4
| k|2 o |
(mm)| (mm) | & |#& 3 (me=x (mﬁﬁ—m) J H |=o 1‘21.0 =5 | 210 | =50 | =100
|
.8 5.3 167.88 54 644 215 3 9 2 0
.3 6.0l 169.03 55| 33.6 15.5 6 s‘ 1 0
.1 4.8l 216,20 58 88.3  29.0 26| 11 3 0
.3 5.7 206.10] 53] 149.5  32.3 sl 11 6 0
.9 6.9 157.38] 36| 158.7] 26.6 18 15 6 0
9| 7.7 156.40f 3¢l 527.8 158.7 27| 14 9 2
0 6.9 175.52) 40| 146.7 307 24 12 5 0
9 6.1 241.970 58 349 17.5 2 8 1 0
.8 5.4 208.47] 56 125.00 87.00 14 10: 4 0
2l 7. 114.67] 33| 184.4]  72.4 6 12 5 0
|
.2l 5.7 155.29] 50| s5.9] 33.00 21 10 1 0
1.7 4. 178.89 59 28.2 20.9 17 10 1 0
\
.3-5 6.0| 2147.80 48] 1597.4 158.7] VI27 130‘ 65 44 2
# B : #
” 7 * o
3 K | BE
a = ® # 1Al = IH ) b H
(g Fm) (A F1)
0 25 3 0 i a w | a
0 25 2 9 B wmam|m | =00 36 27 | 36 | X 1
0 12 0 0
P o 0 o W LR | z25° | 36 5 | 36 | X | 27
o © 0 O ® & & B <0° | 35 28 | 36 v 10
17 0 0 0
23 o 0 o 7 U 35 27 36 v 7
0 9 O | K L 35 19 | 3 | WM | 10
23 0 0 0
" o o o = % 35 28 | 36 | I 19
15 2 0 0 = o =] 36 2 36 I 16
1 16 0 0
m 80 5 1 5 K =i 35 28 36 m 24
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B of 37 4R K e
R e
¥ R B :i ) “:: w0
A Ok
(mm) T o | 9 e (0.im|o.2m 0.3m [0.5m | 1.0m |2.0m | iy %ﬁgfﬂg
wE | ®E& DRI
1 3.0 8.3 9.9 0.6 1.9 35 38 6.6 8.4 12.0 65.6 44
I 4.7 10.5| 97.4| 4.0, 2.7 4.1 4.3/ 6.4 7.5 9.9 56.2 31
m 8.4 13.3 0.8 11.6 6.0 6.6 6.8 8.3 8.6 9.7 53.4 31
1\ 14.4| 18.9 6.6 17.8/ 11.8 11.7 11.6/ 12.0 11.4 11.0] 57.5 33
A 19.0] 23.4/ 11.0| 22.4 16.7 16.2] 15.9 15.7| 14.8/ 13.4] 64.0 40
VI 21.6] 25.4| 15.6] 24.6/ 20.5 20.3] 19.7| 19.4/ 18.4 16.3] 73.6 37
VI 26.1 29.8/ 21.2| 29.4/ 24.8 24.5 23.5 22,8 21.3 18.8 77.5 55
Il 28.7| 32.8 21.5( 36.2 27.9 27.5 26.7 26.6 24.8 21.8 68.4 50
X 24.8/ 28.9 18.5| 28.8 23.5 24.0 23.6] 24.8 24.4] 22.9| 71.4 46
X 17.3 22.7| 11.1| 18.6] 16.5| 17.9 17.6] 19.7| 20.5 21.3] 71.7 50
XI 11.3] 16.2 5.4 9.9/ 10.1] 11.9] 12.0 14.5 15.9| 18.2] 70.6 45
XI 6.1 12.0 0.3 3.6 4.3 6.2 6.5 9.2 10.8 14.3[ 70.7 39
4. 15.5 20.1] 8.9 17.3 13.9 14.5 14.3 15.5 15.6 15.8| 66.7 31
- # % A
A W s m | & |us| B (ww|e ok 5 ow|BR| B |8
2 Bk | x| A R | = |Clar| Cloudy Sunless| = | U | L
I 1.4 6.5 6 2 O1 0 8 8 1 0 24 19
i 1.8 8.0 2 1 0 0 10 9 0 0 16 0
I 2.0 9.1 2 0] 0 Q 12 10! S 0 11 2
v 2.2 1.8 0 0 1 0 7 14 5 3 1 0
Vv 1.5 7.6 0 o) 1 1 9 14 8 0 0 0
VI l.g 6.; 0 o) 0 2 1 25 12 0 0 0
VI 1.2 8.0 0 o) 4 0 3 16 7 0 0 0
Vil 1.8 11.5 0 0] 4 o} 5 BL 1 2 0 0
X 1.3 6.1 0 0] 1 0 6 10 1 0 0 0
X 1.2 6.5 0 0 1 0 6 8 3 0 0 0
XI 1.3 5.4 0 0 3 0 11 12 5 0 4 1
XI l.ikl 5.; 0 0 0 0 15 8 1 0 18 15
ﬁa 1.5 1.8 10 3 15 3 93 142 49 5 74 37
* RHEIA A —
W (FH) VI8, X 29, 31 (k) VI 3, XI 29, 31




£ H B B R W K ROF
12, A=A =
va | v ¥ A B g (3 7K =4 & B B Ak B ¥
| om | oB | ®OX N
#n| e | Z Tam | &
(mm)| (mm) | &/ |w@ It |Eox (m%m) H |=0.1/=1.0] =5 | =10 | =50 | =100
1.8 5.2 169.99] 55  40.1 34.1 1 10 3 1 1 0 0
2.6 4.9 181.39 59 9.5 6.5 8 6 1 1 0 0 0
3.3 4.9 201.78 60| 34.4 11.7 15 11 10 2 1 0 0
3.7 6.0| 189.94 49| 165.8  43.5 3 12 9 7 4 0 0
4.0 5.5 193.14 45| 176.2]  45.5 4 12 9 7 7 0 0
3.2 8.5 126.400 29| =286.8] 72.6 7 15 15 11 8 1 0
3.5 7.1] 141.98 32 360.3] 138.8 27 16 12 9 7 2 1
6.3 5.1 260.22 63 66.2] 52.00 25 9 5 2 1 1 0
4.5 5.7 203.44 55 7.4  48.Q 4 6 4 3 1 0 0
2.9 5.6| 183.64 52| 144.6  68.6 11 9 8 6 5 1 0
1.8 5.2 146.69, 48 52,9 22.2 3 8 7 3 2 0 0
2.0 4.0 193.74 64| 45.4 21.4 14 10 4 3 1 0 0
3.3 5.6] 2192.35 491 1449.8 138.8 VI27| 124 87 55 38 5 1
& Hom . "
- T = i
#E | RE | K| BB
a | + W] = ® oA = o k) A B
(HEFm) (FEF)
9 3 © # A | R £ | A | n
© © 2 9 £ A= N >30° | 37 v 22 37 X 3
1 16 0 1
18 . o | ®E SR =25° | 37 | IV | 23 | 37 X 13
21 q 0 Y2 Emam | <003 X |14 a7 W 5
16 0 0 0
17 o o o = W 36 | X 14 | 37 | IV 4
28 0 0 o +E Ll 36 | X1 | 15 | 37 | Il | 18
23 0 0 0
e 0 o : = N 3 | XI | 28 | 37 m 17
17 4 0 U o = 5 37 27 | 37 | 1 | 20
2 17 0 0
159 88 5 4 & JK H 36 XI 14 37 v 4
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B Of 38 4 = %
ol o B = ) e ® o
K[ JE 73 = ’
Bl Okl
(mm) R ffﬁjfff. 12*";7 #3 |0.1m | 0.2m |0.3m [0.5m | 1.0m | 2.0m | F#3 ggfﬁg
® | i DI
I 0.0| 5.1 94.90 0.1 1.3 2.9 3.0 5.6 6.9 11.00 78.5 57
I 2.2 7.9 96.00 0.5 1.7 3.2 3.4 5.1 6.1 8.6 58.38 35
I 7.9 13.2| 0.4 7.3 5.6/ 6.6 6.5 7.4 7.4 8.3 57.7 33
v 15.1] 19.7] 8.2] 16.20 13.2 13.5 13.4] 13.0| 11.8 10.7| 64.0 36
\% 18.9| 22.8 15.0| 20.5/ .18.5 18.5 17.9] 17.2{ 15.9] 13.9 81.4 50
VI 23.6| 27.1] 18.8] 24.9] 22.6/ 22.6 21.8 20.9| 19.5| 17.2] 78.2 58
VI 26.8 31.1] 21.6| 28.5 26.4 26.6| 25.8 25.2| 23.4 20.3 75.3 60
VI 97.4) 31.00 21.6| 28.7) 26.3 26.9 26.1] 26.1| 25.0| 22.6( 74.7 58
X 21.20 25.5/ 15.6| 22.1| 21.1] 22.3 21.6] 22.8] 23.0| 22.6| 78.5 50
X 17.0| 22.3] 10.5| 16.3] 15.9 17.3 17.0| 18.6| 19.4] 19.8 66.9 48
X1 11.5) 16.6| 4.8 9.6| 10.2] 11.9] 12.0] 14.2| 15.8 17.9| 66.2 47
X1 6.7 12.9 0.5 4.7| . 5.4 7.2 7.3 9.7 11.5 14.5] 67.9 43
i 14.9) 19.5| 9.0/ 15.00 14.0 15.0{ 14.7| 15.5 15.5 15.6| 70.7 33
- HE R H
g @ g g | & a6 8 |ww|& %7 w26 & @
?gﬂé“lﬂ{g TN 7 £ = |Clear | Cloudy | Sunless | -« L L
I 1.5 9.8 13 2 0 0 9 11 0 21 27
i 1.5 8.0 6 0 o 0 16 6 3 190 26
i1 2.1 6.; 1 0 0 2 10 15 3 12 11
I\’ 1.6/ 6.9 0 0 0 2 4 16 5 2 0
A 1.3 6.1 0 0 0 7 3 25 14 0 0
VI 1.2 0 0 4 4 0 22 12 0 0
VI 1.3 6.3 0 0 3 0 2 12 4 0 0
VIl 1.3 6.1 0 0 7 0 6 10 2 0 0
X 1.2 8.3 0 0 0 3 1 17 5 0 0
X 1.4 5.7 0 0 0 0 13 9 2 0 0
X1 1.5 5.7 0 0 0 1 10 9 4 5 1
XI 1.5 6.5 1 0 0 2 13 8 3 16 14
£ 17.8 21 2 14 21 87 160 57| 75 79
* REIAA
AR 1 21

EaE (Fy) O 20, B (k) 1 4, 6, 14, TT 19, 20, I 24, V 16, I 8, 23, IX 19



119

i ] A oM E B K RowE
cal v | * | ammw | K Bos B ok B K
Rl m | o# NEE 2 B 0M R
= == n =
wn | wE | E e
(mm)( (mm) | & | = |[Fo (m—%n) A [=o0.1l=z1.0] =5 | =10| =50 | =100
*|
1.6 5.5 167.90 56 18.3 5.9 .5 15 5 1 0 0 0
2.7 3.9 203.93 67| 34.9 13.6 8 7 6 3 1 0 0
3.2l 5.8 202,120 s8] 847 19.7] 28] 12 10 6 2 0 0
3.6| 6.7 165.06 42| 147.2]  60.7 g 12 8 7 4 1 0
2.1 8.5 70.19 16| 272.0 44, 8| 16 25 20 15 10 0 0
3.2l 8.3 95.40 22 974.9 72.9 of 20 15 13 7 1 0
5.1| 6.6 185.34 42| 131.3  37.6] 11| 12 9 5 4 0 0
4.8 5.5 199.95| 48] 163.3 200 18] 17 13 10 8 0 0
3.1 7.2 187.68) 37l 94.8 s1.8] 25| 13 10 3 2 1 0
3.1 4.2| 203.91] s8]  76.9 438 9 8 7 5 1 0 0
2.0| 4.8 173.83] 56| 41.7 20.6 25 9 1 2 1 0 0
1.8) 4.5 177.85| 59| 24.8 6.5 24 9 6 1 0 0 0
3.0 5.9 1983.16 45 1364.8 72.9] VI6 159 110 71 40 3 0l
# o - e
s L | B %% e £
B | wew | fox | e
a + o 5 G ']\ % ED) A & F
(FB#F0) (REFm)
0 i I 0 % | A | \m | &% A | =
0 28 4 0 ®m 4| | =80° | 38 | V 7 | 38 | KX 7
4 11 0 1
3 5 0 of B SR | =2 |88 | VI | 18| s X |0
5 0 9 VI mmam| |=o0°| 37 | X1 | 24 |3 | V| 10
9 0 0 0
23 0 o 1 B ] 37 X1 23 38 v 11
2 O 0 o == ¥ LI 37 | XI | s0 | 38 M | 30
20 0 0 0
24 o o o = x 38 | I 3| 38 | WM | 12
17 3 0 9 s = = 38 I 4 38 | O | 28
0 17 0 0
137 s 10 o K o 37 | XT | 24 | 38 | IV | 11
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WO 39 4 = e

| Fo B ﬂh e = T oo ®
HolsE % x

Eﬁig STty | . 245

¥ ¥ | p | g |23 |0.1m 0.2m 0.3m 0.5m | 1.0m | 2.0m iy %;Eﬁ:ﬁ\

I 4.4 10.2] 99.9 ., 2.9 3.8 5.4 5.5 7.4 8.9 11.7] 66.5 41
I 2.9 8.3 9o7.4 2.0 28 4.3 44 6.0 7.4 9.7 67.1 36
m 7.2 12.1 99.9] 6.2 5.5 6.5 6.5 7.5/ 7.9 9.1 56.5 30,
I\Y% 17.6| 22.0| 11.7| 17.3| 15.7] 15.7] 15.3| 14.4] 12.7| 11.0] 74.4 54
\% 20.7| 25.5 12.1| 21.6 19.5 19.6] 19.2| 18.8| 17.1] 14.7| 59.5 37
\%! 22.2 26.6] 15.6| 22.8/ 21.4/ 21.6 21.0] 20.8] 19.5] 17.3] 68.6 49
Vi 27.00 31.0| 21.4] 27.5 26.3 26.4/ 25.9| 25.1 22.9| 20.0] 77.0 60
VI 29.1 33.4 22.5 30.0) 28.3 28.6 28.0 27.8 26.0 23.0] 69.4 57
X 23.9] 28.1| 18.4] 24.6] 24.0, 24.9| 24.5 25.3] 25.0| 23.8| 76.1 62
X 17.0l 21.7| 11.s| 16.7| 16.7| 18.0| 18.0, 19.5 20.5 21.7[ 75.3 56
X1 10.9] 16.6 4.4 8.5 9.4/ 11.2| 11.5] 13.6 15.6] 18.4] 75.3 60
XI 6.2 11.6 0.3 3.8 5.0 6.6 7.0 9.1 11.2 14.4] 77.8 62
7 15.8| 20.6 9.6 15.3 14.9 15.7] 15.6 16.3 16.2] 16.2 70.3 30

n o 3 % A
A (m/s) z | % |® =8 prg |2 % |7 m|2R| ® | B

?gﬁ%g | X A K4 = |Clear| Cloudy | Sunless| - ] ]
I 1.6 6.9 0 0 0 [S) 13 6 0 16 16
I 1.7 6.9 6 0 0 6 14 5 0 17 22
Jiid 2.2 7.4 2 0 2 7 13| 3 0 16 11
v 1.4 6.1 0 0 1 2 19 8 0 0 0
\% 1.8 6.7 0 1 0 7 9 3 0 0 0
VI 1.7 11.7 0 3 0 1 19] 3 1 17 0
VI ].§ 5.8 0 1 0 0 0 0 0 0 0
VI 1.5 6.0 0] 8 6] 4 7 1 0 0 0
X 1.3 24.0 0 6 0 3 16 7] 2) 0 0
X 1.4 4.3 0 1 2 6 15| 7 0 0 0
XI 1.7 6.0 0 0 1 10! 8 2 0 7 3
X1 1.5 5.0 2 0 1 9 10 2 0 17 10
@ 5.6 2.0 10 0 7 6 143 47 3 90 62
* RHIAH
B IR X0 31

Jask (P VI 26 (k) VI 26
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2 # MM FmoE W MK RoFE
w4 | v ¥ —— 3 7K = g2 5 B K iy
R m | ® R 24 W M &
wn| g | = o
(mm)| (mm) | & | F [Ho= (m%n) A |[=0.1/=1.0] =25 | =10 | =50 | =100
1.7]  5.6| 152.45 49| 91.7] 19.5 13 10 9 6 5 oi 0
2.2l 6.0 157.25 51|  72.9  27.3 8 10 5 5 3 o‘ 0
2.9 5.6 201.34 54 93.5 27.0 20 13 9 6 4 o‘ 0
3.0 7.4 135.42 35|  167.9 37.7 10 14 11 8 5 0 0
5.6/ 4.8 240.88 56| 36.00 16.6 10 6 3 2 2 0 0
4.3l 7.9 152.29) 35 194.2 48.00 19 13 11 7 5 o0 o
5.1  7.0] 193.84 44| 201.4 s1.80 18 15 11 8 7 1 0
5.9 5.3 227.09 55 53.5| 20.4 20 7 7 4 2 0 0
3.7 7.1 142.81] 39| 219.7 83.5 24| 14 11 9 5 1 0
2.4 6.3 151.47 43| 115.¢ 7s.3 13 14 9 4 2 1 0
2.1 4.4 183.8¢ 60| 51.0 30.3 9 9 7 2 1 0 0
k
1.6| 4.7] 16051 55 s5.7 32.4 23 10 5 3 1 0 0
%k
3.4 6.0[ 2099.21 47( 1353.1 83.5 IX24 135 98 64 42 3 0
ﬁ Hb =3 e A
] & E Bl
#&E|RE | K| HE
o + H = G woO| = o )] B} % H
(B #0) ()
© 80 # | B |8 | & |8 | &8
© 2 1 BoE4E | =280° ) 39 | VI 1ol s | X | 19
4 17 0
8 o o EGm SR | z2° 3 | V|17 3| X | 15
25 0‘ 0 B AE | <00 88 | XU | 24 | 39 | WM | 28
0 0 0
2 o o = U 38 | XI | 17 | 39 | N =20
25 0 0 = T L 38  XI | 30 | 39 | I | 24
18 0 0
2 d o = % 38 | XTI | 28 | 39 | M | 27
15 5 0 T = = 39 | I | 25 39 | O | 25
2 17 0
147 81 1 s 7K 5] 38 Xt 24 39 m 28
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@ 40 4 = ®
v o R B e (<C) itk LI
¥ - %
A Ty = : T
(mm) | oy 3,1;% };}’g #% [0.1m [0.2m [0.3m [0.5m | 1.0m | 2.0m | 35 i%ﬂ%
I 3.1 8.6 97.9] 1.1 2.77 4.4 4.7 6.6/ 8.5 11.6[ 78.0 61
I 3.8 8.8 97.2 1.9 3.0 4.6 4.8 6.2 7.4 9.7} 74.4 55
m 6.2 11.9 98.1 5.5/ 4.9 6.2 6.4 7.5 8.00 9.1 63.2 43
i\ 11.9 16.8 4.2 11.7] 10.3 10.6 10.7 10.9 10.5 10.1| 67.3 38
v 19.5 24.1) 11.7] 19.3 17.4] 17.4 17.1] 16.6 15.0 13.0| 70.0 43
VI 23.20 27.1 16.5| 24.2 22.6 22.2 21.5 21.0| 19.3 16.8] 77.0 50
VI 25.8) 29.5 21.1] 26.2 25.1 25.2 24.5 24.0] 22.3] 19.8 83.2 67
I 28.00 32.8 =20.2] 30.2 27.7| 28.0 27.8 27.5 25.5| 22.5| 67.9 58
X 22.2| 26.6) 16.2] 22.2, 21.9 22.9| 22.7 23.7 23.7] 23.1 77.6 57
X 16.8 22.7 9.4 15.3 15.5 17.2 17.4 19.1] 19.8 21.1] 71.5 59
XI 12.5) 17.2] 6.2 10.0 11.1] 12.6] 12.9 14.7 16.3 18.3 77.3 57
XI 4.8 9.7 0.1 3.7 5.1 6.9 7.0 9.2 11.3 14.6 83.4 57
4 14.8 19.7 8.2 14.3 13.9 14.9 14.8 15.6 15.6 15.8 74.2 38
A, & 3t % 3]
3 (m/s) z  ® | = |um Bt |2 % | R W BE| B | B
?H’FE BA| X A b R = |Clear| Cloudy |Sunless, - U ]
I 1.6 6.3 4 1 1 0 1| 12 11 o0 o 17 1o
i 1.7, 6.5 8 0 0 1 2 8 9 2 o[ 13 17
il 2.2 6.8 4 0 0 1 o 12 8 1 o‘ 200 13
v 1.8 5.7 2 2 0 0 4 7 18 5 o1 6 1
\% 1.6/ 7.0 0 0 0 2 1 6 16 5 0 1 0
VI 1.2l 5.7 a o 0 4 4 2 16 1 0 0 0
VI 0.8 4.0 0 0 0 3 3 3 20 4 o1 0 0
I 1.3 5.3 0 0 0 1 o 1n 6 0 0 0 0
X 1.2 13.0 0 0 0 1 3 7 13 5 1 0 0
X 1.2l 5.0 0 0 0 0 1 15 8 2 0 0 0
X 1.3 5.7 0 0 0 0 s 10 12 4 0 6 0
X1 1.1 7.7 4 2 0 0 3 6 18 4 o 13 12
AR 1.4 13.0 22 5 1 13 30 99 155 33 1 76 62
* REIAA

Sl (F49)

H HeigL X 8

X 8, SR (i) X 7
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# e 2 G E B A RoE
B 7 BB ok B
wa ¥ —— % K & % %
L # NE: * 24 B M
S = %W E
w7 = (mm) =2
(mm) = | i (Eo= (m%n) >0.1/=1.0| =5 | =10 =100
4.8 171.44) 55|  36.4  24. 29 12 5 1 1 0
4.9 185.24 61 54.0,  14. 20, 12 8 5 1 0
4.1 234.71 63  32.3 14. 23 10 5 2 1 0
6.4 178.51 46| 124.5  28. 29 16 8 6 5‘ 0
6.6| 196.48) 45 233.7]  86. 26 17 13 8 (7 0
7.1{ 151.35 35 285.8  82. 27 17 13 10 9‘ 2 0
7.7 181.34 30| 259.3 @ 43. 6 20 18 14 12‘ 0 0
3.6 252.91 61 8.2 7. 22 3 1 1 o‘ 0 0
6.1| 161.34 44| 339.8 129. 17 15 1410 8 2 1
3.7 236.63 68 67.3 45. 14 8 6 2 1 0 0
5.5 138.96 45|  68.7 19. 25 14 10 4 3 0 0
%
6.6| 116.43 40| 87.9  26. 28 17 12 4 2 0 0
%
5.6 2155.34 491 1597.9] 129.0; IX17 161 113 67 49 5
x i
. . 2]
@ K | EE
o ® g == )l S
(W Fm) (BB FI)
! 2 ! 4 A H F |
1 21 4 o o o
5 E A =30 4 | VI | 25 | 40 16
1 23 1
. ” o | B E K >25° | 40 | IV | 16 | 40 11
17 9 9 9 # &« <0° | 8 | X | 20 | 4 22
17 0 0 0
1 0 o o " 39 | X 3 | 40 1
2 0 9 9 &= 39 | XI | 23 | 40 3
21 0 0 0
25 o o o = 39 | XI 2 | 40 11
1 6 0 A 40 1 11 | 40 13
5 17 2 0
146 o7 8 | 39 | XI | 20 | 40 12
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Bof (FK) T 15, IV 14, VI 29, XI 4

WoAn 36 & = %

vyl B B i“i’ ) f LI

£ ES °
| Gy @ -

(mm) o :EEE iy@ #135 {0.1m |0.2m |0.3m |0.5m | 1.0m | 2.0m | ?E?@

| DN
I 0.1 5.2 96.2] 99.3] 0.1 99.8 2.3 3.2 6.8 10.3 79.2 50
I 0.9 6.2 96.3 99.9) 0.9 0.4 2.3 2.8 5.3 8.3 70.8 28
i 7.2 12.7, o.9 6.7 5.5 5.8 7.1 7.1 7.5 8.2 62.9 26,
v 13.7| 18.3 6.6 15.6/ 11.4 11.4] 12.3 11.9] 11.0, 9.8 60.3 29
A 18.3 22.3 12.2| 20.8 17.7] 17.2 18.1 17.0 15.3‘ 12.7] 72.6 53
VI 20.7| 24.4 15.8] 23.5 20.1 20.0, 21.0 19.9 18.4‘ 15.3] 75.9 56
VI 26.1| 29.4 21.1| 29.5 25.7| 25.7| 26.3] 24.8] 22.7] 19.4 76.6 61
Vi 26.3| 30.3| 21.6] 30.2 26.4 26.6/ 27.3| 26.3] 24.4 20.7| 76.8 61
X 24.3] 28.4 19.1| 28.4/ 23.8 24.4/ 25.6] 25.2 24.4 21.5 73.7 57
X 17.8] 22.1 14.1 19.7] 17.9) 18.1] 20.1] 20.2 21.2 20.4 84.0 61
X 11.4 15.9 6.5 9.4 9.6 10.0] 12.8 13.7 16.3 17.8 74.9 43
pul| 3.8 9.9 99.8] 1.6 . 3.1 3.3 6.2 7.5 11.2 14.4 80.2 46
o 14.2 18.8 9.2 15.4 13.5 13.6 15.1 15.0 15.4 14.9 74.0 26
o 3 f A

A (i) s | % | & |%F| B |tw | & K| T B|RA| B | #e

é‘gﬁ?i TR ¥ M 4 = | Clear| Cloudy | Sunless| -« L LJ
I 1.4 10.1 9 1 0 3 15 11 1 21 24
I 1.6/ 12.0] 10 2 0 1 12 10 2 18 23
il 1.3 8.4 0 0 0 7115 11 o 16 14
v 1.4 10.5 0 0 1 4 8 9 1 3 1
v 1.1 9.1 0 0 0 7 6 14 0 0 0
Vi 11 8.4 0 0 1 10 7 18 0 0 0
VI 0.71 5.5 0 0 4 4 3 11 0 0 0
VI 0.8 7.1 0 0 2 2 6 10 0 0 0
X 0.9 12.7 0 0 1 o 10 8 1 0 0
X 0.9 7.3 0 0 1 5 6 19 0 0 0
X1 1l 8.0 1 1 0 3 12 11 0 5 4
X0 1.0, 8.2 4 0 0 o 16 7 o 23 18
73 1.1 127 24 4 10 46 116 139 5 85 84
* KA B




o E2 U S T2 7 N = R
_ 72 = ' 0 & =}
wa | v ¥ . (% 7K = B ook E5e
7k3§ 7 L) B i PN 24 i3 i i
=i PN =
#n | wk | = o |
(mm)| (mm) | & |# 3t |FsE (m%m) H |=0.1/=1.0{ =5 | =10 | =50 | =100
0.9 4.4 73.2  29.0 3 12 7 5 2 0 0
1.5 5.0 45.4 18.3 6 11 7 2 2 0 0
2.4 4.4 96.6|  36.1 26 11 9 4 3 0 0
3.2 5.1 189.0,  45.2 8 11 8 7 6 0 0
3.2 6.3 195.5 39.5 11 15 15 11 6 0 0
3.3 6.7 699.8 237.5 27, 16 13 10 10 3 2)
3.9 6.1 162.2 39.8] 24 14 12 8 5 0 0
4.2 5.3 65.8 23.1 5) 11 6 4 2 0 0
3.5 4.5 117.9 40.8 14 12 6 4 4 0 0
1.9 6.6 155.4/  51.8 6 15 10 7 6 1 0
1.2 4.9 84.1 49.8 21 12 5 3 2 0 0
0.8 3.3 30.1 20.8 17 14 4 1 1 0 0
2.5 5.2 1915.00 237.5 VI27] 154 102‘ 66 49 4 2
e Wowm " -
: o - .
T | RE | K | B
a | + o 5 ® #Moo®m % W # H # 3]
(BB (g Fm)
0 ® 3 2 £ | A | B & | A | H
0 26 4 A mowmoam|m | =300 36 | VI 7 | 3 | X | 11
1 16 0 0
5 . o o ® W AR >25° | 36 A 9 36 X 19
1 0 © " 26& 48 <o0° | 35 X1 28 36 v 10
15 0 0 0
19 0 o o & U 35 Xt 16 36 v 19
21 0 0 o = i L 35 | X1 | 28 | 36 | IV 9
18 0 0 0
15 o o o = % 36 1 2 36 i 19
13 5 9 o & = B | 36 | I 2 | 3 O | 18
1 21 0 0 .
126 97 7 5 W K =] 35 X1 28 36 v 9
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WA 87 4 = &
pow| B B *"“3 @) 18 LI
A T % s
mm) | g g | B8 B8 |y 16 im [ 0.2m | 0.8m | 0.5m | 1.0m | 2.0m Ty ?ﬁfﬁg
wE | R DEN
I 0.3 6.1 96.5| 99.6/ 0.8 0.3 2.5 3.8 7.3 11.1] 79.5 53
I 2.7) 8.3 97.00 1.5] 1.9 1.6 3.4 4.1 6.3 9.5 62.1 31
s 6.6 11.6] 99.6| 7.6 4.7 4.9 6.7 6.9 7.7 9.1 56.1 26
v 12.7) 16.5 5.9 14.9] 10.8 10.4] 11.5 11.3 10.8 10.2] 62.0 36
v 17.2 21.5] 10.7] 20.3 16.0] 15.3 16.2 15.5 14.1 12.2] e8.7 38
VI 20.0/ 23.1| 15.6| 23.3 20.1| 19.6] 20.6 19.8| 18.2 15.2 78.6 42
VI 24.4| 27.7) 20.3 28.0| 24.2] 23.7 24.3 23.1| 21.3] 18.2] 82.3 62
VI 26.3| 30.6) 20.7| 32.3] 26.3 26.6/ 27.5 26.4 24.2 20.4/ 73.3 62
X 22.4| 26.9| 17.0| 26.4) 22.6 22.8] 24.6| 24.0| 23.0| 20.9] 74.3 44
X 15.1| 20.5/ 10.6| 17.9 15.0] 15.¢ 18.0, 18.2 19.2 19.4] 78.3 56
X 9.4 14.31 4.9 7.6 7.9 8.2 10.9 12.1] 14.4] 16.4 81.8 57
XI 8.7 10.8] 99.3] 1.2 2.2 1.9 4.4 5.6 9.1 13.0 75.9 43
F 13.4) 18.1) 8.2 15.1| 12.7) 12.6| 14.2 14.2| 14.6 14.7| 72.7 26
o i % A
B @O Vs (& | & |[wE| % |bw | x| W|FA| B | AR
%;ﬁiﬂg EZoN A b K = |Clear| Cloudy | Sunless| - ] Ll
I 1.2 8.5 12 0 0 116 9 o 220 25
I 1.4 9.8 1 o| 0 o‘ 17 8 0 18 22
m 1.4 9.8 4 1 0 6: 16 10 o 20 15
v 1.5 8.7 0 0 1 5 6 13 0 4 0
v 1.1 7.3 0 or 0 5! 10 15 0 0 0
Vi 1.0 6.7 0 o“ 0 9 2 21 0 0 0
i 0.7 5.4 0 0 5 8’ 3 17 0 0 0
VIl 1.0, 10.7 0 o‘ 3 1 9 5 1 0 0
X 0.8 0 o’ 0 2‘ 10 12 0 0 0
X 0.8 0 o‘ 1 4 7 15 0 2 0
XI 0.7 6.§ 0 o,’ 0 6“ 14 12 0 10 4
X1 1.0, 8.0 1 1 0 6’ 18 8 0 23 23
i) 1.1 18, 2 10 53“ 128 145 1 9 89‘
* RHA R

BoE (oK) I 26, 27, IV 1, 28, V 21, X 23
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YA # milh oA OB M B
[ i = = ! % B ¥
o | s ¥ . 3 K =2 ' O3 B oK %%
k| % | | R *x 24 W i 4
(mm)| (mm) [ §& |#& i |Eo= (mﬁ—m) 0 |=0.1 =1.0l =5 | =z10]| =50 | =100
0.9 3.9 33.1 27.5 1 12 3 1 1 0 0
1.8 3.7 11.0 7.6 8 9 2 1 0 0 0
2.2 4.0 48.3 15.3 15 11 10 3 1 0 0
2.6 6.0 213.9)  63.6 3 15 9 7 4 1 0
2.9 5.8 205.3  57.3 4 12 10 7 7 1 0
2.5 8.1 377.7  75.6 7 16 14 13 10 2 0
2.7 7.2 361.6| 138.8 27 15 13 10 7 2 1
4.8 4.1 66.4  46.5 25 10 6 1 1 0 0
3.4 5.1 50.3  28.6 4 9 7 2 1 0 0
2.2 6.1 182.6)  88.7 11 10 8 7 5 1 0
1.1 4.8 66.5  30.5 3 9 7 4 2 0 0
1.0 3.4 50.9|  27.6 14 11 4 3 2 0 0
2.3 5.2 1667.6/ 138.8 VI27] 139 93 59 4] 7 1
e WoE - "
[l ﬁ( = =]
#E | RE | K| B
~ | + | u ® BO® % ) n % A
(B FH) (FF#m)
© B4 ! £ B @ | & | B | n
° = ! O Bwm 4R >30° | 37 VI 12 | 387 X 6
0 20 1 1
4 3 0 1 B | =>25° 37 A\ 21 37 X 5
15 © © I 8 & a8 <0° | 36 XI 14 37 v 5
12 0 0 1
13 0 o o & Ll 36 X1 14 37 v 29
23 0 ° o = ey L 3 | XI | 14 | 37 | I | 31
20 0 0 1
2 o o . = ¢ 36 | XI | 24 | 37 m 26
12 5 0 Nowm £ 54 37 I 2 37 m 2
0 25 0 0
119 104 6 7 W XK 4 36 XI 14 37 v 19
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WA 88 4 = %
- e e i ;
2::; ? & ) i = &) . 1% %)
Bl Ok
mm) | gy | T | ik (6.1m [0.2m |0.5m |0.5m | 1.0m | 2.0m | 745 ?EF{“&
E | R DEIN
I 98.1 2.9 94.11 99.0, 0.0, 99.6 2.0 3.4 6.5 10.3 78.5 60
I 0.1 5.8 95.3 99.9 0.3 99.5 1.1 2.4 4.9 8.6 65.2 46
ik 6.0, 10.6/ 0.1 6.2 4.5/ 4.5 5.8 5.9 6.0 7.9 62.9 28
v 13.3| 17.4) 7.5 16.1] 12.3 11.5 12.4 12.0/ 10.5 9.5 71.5 42
A 17.9| 21.0, 14.3] 20.9| 17.8 16.9 17.6 16.9] 14.9 12.5| 83.8 57
VI 22.0] 25.2| 18.4] 25.9] 22.0/ 21.1] 21.9| 20.8 18.6| 15.8 84.0 65
VI 25.1) 29.0/ 20.6] 3C.1| 25.5/ 25.2) 26.0 24.8] 22.0/ 18.3 79.9 67
VI 25.3 28.9 20.4] 30.2 25.1 25.2 26.2 25.4] 23.5 20.2] 78.1 64
X 19.8) 23.5| 14.8] 23.0 19.7| 19.7| 21.5 21.7| 21.6 20.4 s81.5 56
X 14.7| 20.4| 10.2] 17.3 14.4] 14.6| 16.7] 17.0] 17.9] 18.4| 76.6 56
Xt 9.3 15.00 4.2 7.1 7.7 7.9 10.6 11.6| 14.0 16.2| 77.5 50
X1 4.8 10.7] 99.8] 2.3 3.3 2.9 5.5 6.6 9.6 13.1| 72.6 40
4 13.0f 17.5 8.3 14.8 12.7| 12.4 13.9 14.0| 14.2 14.3 76.0 28
It e B & H
A @ s [ w | & [ww| 5 o2 x|+ w88 & |65
%;H#E WA | ¥ A < = |Clear| Cloudy | Sunless| -« ] Ll
I 1.6 11.2 16 0 0 0 0 14 10 21 26
I 1.3 7 0 0 0 0 17 6 19| 22
il 1.5 2 0 0 0 6 17 12 16 12
v 1.0 0 0 0 0 7 7 13 4 2
A4 0.9 7.1 0 0 0 1 15 3 24 0 0
VI 0.8 6.1 o 0 0 3 9 1 19 0 0
VI 0.8 0 0 0 4 3 5 11 0 0
VI 0.8 0 0 1 4 3 9 10 0 0
X 0.7 7.4 0 0 0 0 7 4 16 0 0
X 0.9 6.1 0 0 0 0 3 17 8 0 0
X1 0.8 6.3 0 0 0 0 2 15 8 8 6
XI 1.0 8.0 2 1 0 0 3 15 8 18 16
4R 1.0 27 1 1 12 58 124 145 86 84
* RHAH
BGE (FR) V10, VI 25, XI 5, 16~19, XI 29, 30
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i 3] e FomE T MK B R
| v | 7| nmew | KR 2 5 B ok A X
o e % 24 ®m OM &
(mm)| (mm) | & |#& 3t FHo=x (mi;n B |=0.1|=1.0| =5 | =10 | =50 | =100
0.9 4.4 18.6 6.2 5 14 6 1 0 0 0
1.7 2.9 36.3  14.8 8 6 6 3 1 0 0
2.3 4.2 103.4  33.5 28 10 9 8 5 0 0
2.4 6.1 22.1  72.3 g 12 9 8 6 1 0
1.6/ 8.4 364.4 97.1 16 25 200 15 12 1 0
2.4 7.8 272.7  61.8 of 22 15 1 7 1 0
\
3.9 5.6 134.5) 45.4 11| 12 10 7 5 0 0
3.5 5.6 215.4  49.0 18 14 12 10 6 0 0
2.9 6.6 135.8) 81.4 25 14 12 6 3 1 0
2.4 3.7 82.4  43.8 o 10 7 4 2 0 0
1.2 4. 57.11  26.4 28 11 8 4 1 0 0
0.9 3.9 24.0 7.4 24 8 6 2 0 0 0
2.1 5.3 1666.7 97.1 V16 158 120. 79 48 4 0
1% ~
B | RE | HK | BB
o -+ ] .| ® =l M HoE # % H
(KB ) (BA#M)
© 8 20 © # A B | % | B | H
0 28 5 o =% | | =30° | 3 | VI |22 |3 | W | 2
2 15 1 2
9 5 o J WA m | z2° |8 |V 18| 3w KX | 14
6 0 0 O 2 muam |0 | 37 XX | 23 |3, V|1
6 0 0 1
" 0 o 5 % u 37 | X | 16| 88 | W | 12
18 0 0 o = e Ll 37 | X1 | 24 | 38 | IV | n
17 0 0 2
23 o o o = % 37 | X1 | 31 | 38 | M | 13
8 7 9 o S = 38 1 4 38 m 1
3 18 0 0
108 00 2 o 5 U 37 | XTI | 23 | 38 | IV | 11




130

Wof1 39 & = ®

vyl R @ - 0) i B
&5 K 7 x ’
NG ]
ST fﬁ :.?@ 3% |0.1m |0.2m [0.3m | 0.5m | 1.0m | 2.0m | B3y | SFBHE
i | & DI/
I 2.8/ 8.6 99.0] 1.4 2.4 1.7 4.0 4.7 7.1 10.6] 74.1
I 1.1 6.4 9.9 1.3 2.2 1.6 3.8 4.3 6.1 8.9 74.7
il 5.7/ 10.8 99.2| 7.3 4.5 4.4 6.1 6.3 6.9 8.5 58.0
v 16.1 20.3| 11.0| 19.0/ 15.2] 14.2] 14.8 13.7] 11.4] 9.8 78.9
v 18.3 23.2] 11.3] 23.7| 18.3] 18.0] 19.1] 18.1 15.6| 13.0| 66.5
VI 20.1) 24.4] 14.1| 24.2] 20.3] 19.8 21.0 20.1| 18.1| 15.3 74.9
VI 24.8] 29.3| 20.8] 24.6 24.4 23.6 24.7| 23.8 21.4] 17.9| 82.1
VIl 26.3) 31.2 21.5| 26.8] 25.7] 25.3 26.4 25.9| 23.9 20.¢| 77.5
X 22.0] 26.1 18.2] 23.1 22.2{ 21.8 23.2] 23.4] 22.9 21.4] 84.0
X 15.2) 19.8/ 11.1] 15.2] 15.3] 14.9| 17.1] 18.1] 18.9] 19.6| 80.8
X1 9.0 14.9 3.8 6.7 8.0 7.7 10.5 12.1] 14.2 16.5| 76.3
X 4.5/ 10.1] 99.7) 2.7] 3.9 3.4 6.0 7.5 9.8 12.7] 72.5
g 13.8 18.8) 8.9 14.7 13.5 13.0| 14.7 14.8 14.7 14.6| 75.0
A, & H 5 A
A @ Vg | m & |ws| B |wwle x|~ B 56| 5 |8
%ﬁ%g wmR | X A b, 4 = |Clear| Cloudy | Sunless! -« U
I 1.1 8.7 4 0 0 0 5 13 12 19
I 1.5 9 0 0 0 3 11 13 21
I 1.6 2 1 0 0 1 13 10 19
' 0.9 8.4 0 0 0 0 6 5 18 0 0
A 1.0 9.8 0 0 1 1 2 12 8 0 0
Vi 1.0 8.5 0 0 0 1 3 1 16 0 0
VI 0.9/ 10.7 0 0 0 1 7 5 14 0 0
VII 0.7 8.7 0 0 0 3 3 9 8 0 0
1).¢ 0.7 0 0 1 2 6 4 15 0 0
X 0.9 - 5.; 0 0 0 0 4 11 15 2 0
X 0.9 8.0 0 0 0 0 3 18 8 17 6
XI 0.8 8.4 2 1 0 0 2 19 10 21 16,
4 1.0 17 2 2 8 45 121 147 9 80
* RIH B

BoE (K) I 8, IV 20, 21, 26, 27, V 5, 13, 15, V[ 1, 18, X 1, 30, XI 27, X[ 1, 9
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4F #H B % kR B MK o\ W
z:4 (=} E=H 42,
v | v T — % 2 3 B X B
o S ' % O A
A bl
(mm)( (mm) | & | I |(GEesR (mim) g |=0.1/=1.0] =5 | =10 =250 | =100
0.9 5.0 105.2|  25.2 13 11 9‘ 6 5 0 0
1.3 5.5 76.3 27.3 8 12 5 5 3 0 0
2.2 4.4 112.9]  388.4 20 14‘ 9 7 4 0 0
2.3 7.0 200.3  46.00 26 15 11 9 6 0 0
4.9 4.4 49.0 25.5 10) 6 4 2 2 0 0
3| 7.2 210.4  58.3 27| 13 12 7 6 1 0
3.4 6.4 200.7|  48.8 18 15 13 8 6 0 0
3.6 4.7 109.9/  45.0 3 9 6 3 3 0 0
2.3 6.8 229.6/  92.1 24 13 10 8 6 1 0
1.5 5.7 118.9]  82.0 13 15 11 4 2 1 0
1.3 3.6 58.4  26.8 9 11 8 4 1 0 0
0.8 3.6 58.4] 31.8 23 6 5 3 2 0 0
2.2 5.4 1530.0 92.1 IX24 140 103 66 46 3 0
% =
o 5 # i
# RS K KB
a + o B ® #gowm F H # A # H
(FEF) (IR Fm)
0 2 0 ! | A A | #£ | A | #
0 24 4 2 Bwm 4R =>30° | 39 VI 2 39 X 5
0 18 1 1
9 o o o B OE AR >25° | 39 | IV 18 | 39 X 6
2 °© 9 9 K| | <0°| s | X | 17 | s | I | 28
11 0 0 0
13 o q o = U 38 | X 2 | 89 | I 30
23 0 0 9 = T L 3 | X1 | 17 | 39 | I | 28
17 0 0 1
14 o o o e ¢ 38 | XI | 27 | 39 | 1D 27
! 7 0 o9 = - = 39 | I 7 |39 | W | 27
0 22 0 0
112 93 5 5 e JK 5] 38 XI 17 39 i} 28




132

Bl 40 4 K %
F o . (°C) i s & e . (%) %
ro|R E % & ?
(K 5)
(mm) o :EE%Q i H#3 [0.1m{0.2m |0.3m |0.5m |1.0m | 2.0m | 3£y %EFFQ
e | & YN
I 1.4 6.8 97.4 0.4 2.1 1.4 3.9 5.2 7.3 10.1 74.7 51
I 1.6, 7.1 97.0| 0.6 2.6 1.7/ 4.2 5.1 6.3 8.4 74.0 55
I 4.2l 9.9/ 98.1| 2.1 3.5 3.00 5.4 5.9 6.6 7.7 56.0 23
v 10.1| 15.1 3.4 9.1 8.3 7.8 9.5 9.4 8.8 8.5 62.4 25
A% 17.0 22.0| 10.8] 17.1 15.4 14.4 15.9| 15.3 13.4 11.1| 68.5 21
VI 20.8/ 24.7| 15.9| 22.8] 20.2 19.5 20.6/ 20.2 18.0, 15.0| 79.6 63
VI 23.8 27.5 20.1| 25.4] 23.6 22.8 23.7| 23.3 21.3 18.3 84.4 66
VI 24.9 30.7| 19.4] 25.9 24.8 24.6/ 26.1| 25.8 23.8] 20.7| 70.1 54
X 19.8| 24.7 15.7] 20.2] 20.1] 19.8] 21.8] 22.4] 22.2 21.2] 80.4 56
X 14.1| 20.6/ 8.70 12.7| 13.7| 13.4/ 16.2| 17.4] 18.4/ 19.1] 78.1 57
X 11.3| 15.6] 6.2 9.5 9.9 9.4/ 11.9 13.1 14.7] 16.2[ 79.1 55
X1 3.8/ 7.9/ 99.5| 3.0 4.1 3.5 6.3 7.5 9.9 12.6] 86.3 59
3 12.7) 17.70 7.7| 12.4 12.4 11.8) 13.8 14.2| 14.20 14.1| 74.5 21
A, W HE & 3}
A @O g | m | s (w8 [wse kx| e B |8
Eéﬂé?:@ mAk | X A b, R = |Clear Cloudy Sunless| - U ]
I 1.3 8.9 6 2 0 1 14 10 of 24 25
I 1.4 6 0 1 1 16 5 o 21 22
i 1.7 9.4 4 1 1 2 15 6 o 21 17
v 1.4 9.4 3 0 0 5 10, 16 0 7 6
A% 0.9 8.9 0 0 3 5 8 13 0 0 0
VI 0.6 3.8 0 0 4 8 5 12 0 0 o)
VI 0.6 5.0 0 0 3 12 4 19 0 0 0
VI 0.8 5.5 0 0 0 0 18 4 0 0 0
X 0.8 9.4 0 0 1 8 10 12 1 0 0
X 0.7 5.7 0 0 0 1 22 8 0 0 0
X1 0.8 6.9 0 0 0 8 13 13 0 8 2
X 0.9 8.9 5 0 0 12 6 20 0 18 13
3 1.0 24 3 13 63 141 138 1 9 85
* KELH HE

B (X)) I

11, 12, Il 26, 28, 30, IV 9, 11, 22, 30, V 8, 20, 29, 30, Vi 8, 9, 10, 25,
28, VIl 4, 5, 24, 25, IX 3, 13, X 1, 2, 25, X1 7, 8, 9, 24
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A = o FEE W MK B W
7K = = | yi =|
wa | T ¥ U f2 = 7 B B oK b5y
R ®m |8 oo K 24 B M R
wn | we | T ) | &
(mm)| (mm) | & |& 3 |[Go% (mi%m) H |=o0.t{=1.0] =5 | =10 | =50 | =100
1.0 4.1 2.4  22.1 29 11 7 2 1 0 0
1.3 3.2 63.4  16.1 200 10 9 4 2 0 0
2.2 3.9 42,6 15.2 23 9 6 2 2 0 0
2.2 5.8 149.6|  37.9 23 15 9 6 5 0 0
2.7 5.9 284.1 88.0] 26/ 13 12 10 6 2 0
2.6 6.1 239.3  71.0| 20 17 13 9 7 1 0
2.60 7.2 257.6|  44.0 6 21 19 13 9 0 0
4.7 3.0 16.2 8.6/ 22 4 3 2 0 0 0
2.1 5.3 342.8 107.5 16 16 14 10 8 2 2
2.3 2.7 106.4  77.2 14 8 8 4 1 1 0
1.1 5.0 80.0, 19.9 25 14 11 5 4 0 0
0.5 7.2 85.9 24.1 280 20 13 4 2 0 0
2.1 5.0 1710.3] 107.5] IXi6f 158 124 71 47 6 2
B OIRE | K HEE
~ | 4+ | H | K ® #®oWw ¥ # % H
[CZED) (HR#1)
0 26 1 1 i 5 - 4 -
0 23 9 9 & @i\ | =8° | 40 | VI | 14 | 40 29
0 22 0 1
4 9 o J & W &R | z25° | 40 A 8 | 40 21
o o 9 g mam | <o s | X | 28| 4o 22
16 0 0 0
0 o o o = L 39 X | 27 | 40 22
24 0 0 A4 = I L 39 | Xt | 20 | 40 12
17 0 0 0
oa o o o = > 39 | XI 2 40 11
0 8 © 9 #® E = 40 1 11 40 26
0 18 2 0
120 101 12 4 & X 5] 39 XI 15 40 22
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W #1364 K %
- A t 0) iR o,
A & JE 23 S
iy 74 | T | e ]
F ¥ g | g | % [0.1m|0.2m 0.3m |0.5m |1.0m | 2.0m | P gﬁ%g\
I 99.6) 4.3 95.2( 97.3 0.9/ 1.0 8.5 6.6 9.5 82.1 56
I 0.6] 4.9 95.4 98.2 99.7| 0.5/ 0.7 2.6/ 5.0/ 7.4 71.4 32
m 6.2 11.4 99.9 2.5 3.9 5.1 4.8 5.9 6.4 7.6 68.2 23
v 13.8| 17.7| 5.8 14.4 9.6 10.4 10.3] 10.6] 9.5 8.7 62.8 25
v 18.4/ 22.1] 11.5] 21.2 16.2 16.0 15.7| 15.6 13.7| 11.5] 73.0 46
VI 20.8/ 24.4 14.8] 23.6| 19.6 18.7| 18.5| 18.5 16.8| 14.2] 78.0 57
VI 26.0 28.9| 20.4 29.6| 24.9 24.3 24.3] 24.0 21.6 18.5 80.1 63
VI 26.6/ 29.7) 21.0] 31.9 25.6/ 25.7| 25.8| 25.6) 23.2] 19.4 78.1 63
X 23.9| 27.5| 18.5| 27.4) 22.7| 23.7| 23.9| 24.5 23.2| 20.3 76.8 56
X 17.6| 21.1] 13.2] 16.9| 16.6 17.8 17.6| 19.3 20.1] 19.5| 84.9 57,
X1 10.5/ 14.7| 5.3 7.6/ 8.7 10.9 10.9| 13.3 15.7| 17.2| 77.4 52
XI 2.8/ 8.4/ 98.6] 99.8 2.6/ 4.8 4.9 7.7 11.1] 14.0 88.3 66|
e 13.9) 17.9 8.3 14.2 13.20 13.2) 14.3 14.4] 14.0] 76.8 23
A, i’% 3 & A
A (mie) % | ® ® %% 85 [pw|e x5 mlea] 8 |6
?{;H#E LN A b ’ E4 = |Clear| Cloudy | Sunless| U L
I 0.7 11 2 0 2 11 14 o 22| 25
i 0.9 12 1 0 2 6 18 o 20 25
I 0.9 7.4 0 0 0 7 15 11 o =20 16
I\ 1.2 9.3 0 0 1 3 8 15 0 5 3
A 1.1 12.0 0 0 0 8 4 18 2 0 0
VI 1.0, 10.7 0 0 1 8 6 22 1 0 0
VI 0.8 6.5 0 0 5 4 3 19 0 0 0
VIl 0.7 5.7 0 0 5 0 3 16 0 0 0
X 0.9 0 0 3 0 9 12 0 0 0
X 0.6 63 o o o 5 6 22 da o o
X1 0.8 8.0 0 1 0 4 10 14 0 6 4
X 0.7 6.7 4 1 0 0 17 11 o 22 19
G 0.9 27 5 15, 43 98 192 3 9% 92
* RAVAH
Bo# (k) W 2~5, Vo6, VI 12, X 24, 26, 27, XI 5, 24, 25, X 26
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£ E=2) g F mE B MK K OIU
e | wa P —_— B ok & Z2 A B K £S5
k| = | # L. X T R
| ma | E eI
(mm)| (mm) | & i B ESER (mim) H [=o0.1|1.0m| =5 | =10| =50 | =100
0.6 5.3 74.0 27.0 3 12 7] 4 2 0 0
1.0 6.6 40.4  19.8 6 9 7 2 2 0 0
1.8 4.7 96.5 34.3 26 11 8 4 3 0 0
2.6 6.1 179.1]  40.8 26 12 8 7 6 0 0
2.6 7.3 180.7  32.2 11 15| 13 10 7 0 0
2.7 7.6 644.0 204.3 27 15 13 11 10 2 2
3.3 7.4 157.20  85.0 12 14 13 9 5 0 0
3.5 6.9 56.5  18.3 2 12 6 3 2 0 0
2.9 5.3 118.4  38.1 14 12 6 4 3 0 0
1.2 7.3 167.7]  62.7 6 16 12 7 6 1 0
0.9 5.5 83.8  50.2 21 12 6 3 2 1 0
0.6 4.2 29.2 20.3 17| 11 5 1 1 0 0
2.0 6.2 1827.5] 204.3] IV27] 151 104 65 49 4 2
iy o= = o
. B
# | RE | &K | BB
~ +|u | ®| ® | ® W ® o oA % n
(HEFR) (BA#0)
© S ! # | B | n | & | A | B
° 2 ‘ Yo®ow 4R >30° | 36 VI 7 36 X 6
2 15 0 0
; 3 o o B @ & =25° | 8 | V 9 | 3 | X 6
4 0 0 Y 5 ®mam | <0 | 3 | XTI | 28 3| N | 19
12 0 0 0
1 o o o & L 35 | X1 | 15 8 | IV 19
15 0 0 U ¥ L 35 | XTI | 28 | 3 | IV | 10
22 0 0 1
3 o o o = N 35 | XI | 28 | 36 i 19
12 4 & 9 = 5 35 | XI | 29 | 3 | O | 18
1 22 0 0
104 96 9 4 = 7K = 35 XI 28 36 v 10
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WA 87 4 = £

gy R B - () 1 LI
A G * s

(mm) SE OBy ‘Eﬁ fi@ HE# |0.1lm [0.2m {0.3m |{0.5m | 1.0m | 2.0m | Fy ﬁ%ﬁ%}

i | ik DN

I 0.1 4.8 95.8 98.1 0.1 1.6 1.6 4.0 7.3 10.8 82.9 65
i 2.3 7.1 95.9] 98.3 0.3 1.8 1.7 3.6 6.0 8.7 64.9 46
m 6.3] 10.4| 98.7 2.0 3.2 4.5 4.3 5.6 6.6 8.1 58.5 25
I\% 12,7 16.0 5.1 13.8 9.3 9.9 9.7 10.1 9.4 8.9 63.5 36|
\% 17.2] 20.8 9.4] 19.7/ 14.3] 14.3| 14.0 14.21 12.7 11.1 71.5 46
VI 20.2| 22.7| 14.4| 22.8 18.9] 18.7 18.3/ 18.4] 16.7| 14.2| 81.0 44
VI 24.5) 27.1 19.7| 27.6/ 23.2] 22.7| 22.4 22.2| 19.8 16.7| 83.6 70
VI 26.3 30.00 20.1 32.1 25.2 25.8 26.0| 25.7| 23.0] 19.1| 77.5 67
X 22.1 25.9] 16.2] 24.7] 20.6| 21.8 22.0| 23.0| 22.2| 19.7| 80.1 54]
X 14.9/ 19.3 9.5 13.9, 13.3| 15.0| 14.9, 17.0] 18.5 18.5 81.2 63
XI 9.5 13.4 3.6 6.0 6.9 9.1 9.1 11.6] 14.1| 15.9] 81.7 45
XI 3.5 8.9 98.0] 99.1 1.7 3.3 3.4 6.0 9.3/ 12.6] 82.2 50
4 13.3 17.20 7.2 13.2 11.4 12.4 12.3 13.5 13.8 13.7] 75.7 2

R A % A
i (me) % | w3z |%E| 8 w2 <5 w28 B | Be

?{éﬁig =R | X A R = |Clear| Cloudy |Sunless| -« U ]
I 0.8 6.? 12 1 0 0 12 15 0 23 30
I 1.0 7.4 6 2 0 1 12 11 0 20 22
I 1.1 7.2 3! 1 0] 5 12 14 0 19 18
v 1.2 11.; 1 0 1 2 ) 18 1 5 2
A\ 0.8 5.; 0 0 1 S 8 19 0 0 0
VI 0.7 6.; 0 0 0 7 1 27 0 0 0
VI 0.7 0 0 4 7] 2 21 1 0 0
VI 1.0 0 0 3 0 5| 10 1 0 ]
X 0.6 7.4 0 0 1 0 8 15 0 0 0
X 0.3 61 d o | 5 8 19 d 1 o
XI 0.3 6.1 0 0 0 2 13| 16 0 10 S5
X1 0.3 5.0 1 0 0 2 14 11 0 23 23
4. 0.7 2 4 1| 36 1000 19 3 101 100
* REIA B

iR (&R T 19,

20, Il 28, IV 14, 19, V 19, 20, 22, VI 10, 11, 27, X 5
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2 3] e 5o E E AR K L
v | T w R B Xk = # 5 B K B ¥
R = LR X 2 B M &
(mm)| (mm) | & |8 F |[H5E (mm) (mﬁm) H |=0.1/=1.0; =5 | =10 | =50 | =100
0.7 5.4 32.9 26.2 1 12 3 1 1 0 0
1.2 4.8 14.7 10.2 8 10 3 1 1 0 0
1.7 5.3 52.8 15.3 15 13 10 4 1 0 0
2.3 6.9 221.4  69.5 3 15 9 8 6 1 0
2.6 6.6 190.2 51.2 4 12 9 7 7 1 0
2.1 9.1 345.5 79.3 7 18 14 13 9 2 0
2.4 8.0 325.8 134.3 27| 16 14 9 7 2 1
4.1 5.7, 74.4  40.4 25 8 6 3 2 0 0
2.7 6.0 62.2  32.4 4 10 5 3 2 0 0
1.5 6.6 171.6 75.4 11 10 8 7 6 1 0
0.7 5.4 63.4  27.4 3 8 7 4 2 0 0
0.6 4.9 50.8  25.7 14 11 4 3 2 0 0
1.9 6.2 1605.7; 134.3] VI27| 143 92 63 46 7 1
i o = "
N Mm% A
#ORE | K BB
o + [ = C) oM % o #l A % H
(REFm) (REFm)
© 9 ! # | A | R &£ B &
0 23 1 0 B m 4| | =80°| 87 | VI |21 |3 | X | 6
0 18 1 1
3 3 o o B W KR | z2s° | 37 Vo 21 | X 3
" © 0 A B &l <0° | 3 | XI 14 37 | IV 20
11 0] 0 1
14 o a | = L 36 X1 14 a7 v 29
24 0 9 9 = i L 36 | XI | 14 | 37 | IV 5
19 0 0 1
18 o o . = 4 36 | XI 22 37 v 4
18 é 9 N = 37 I 2 37 I 17
0 24 0 0
113 104 1 9 i JK o} 36 XI 14 37 v 19
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HE 1 38 4E & %
7o Ao @ i’ﬂl () i@ LI
a K 7 x ¢
B Gk
(mm) o i.ziéj S.f'i’g #2 0.1m |0.2m [0.3m [0.5m | 1.0m |2.0m | Fg %EE
| Al DEI
I 98.1] 1.5 93.1| 96.8 99.3 0.9 0.9 3.4 6.7 9.9 85.8 66
i 0.1 4.7 94.1] 96.5 98.6; 99.8 99.7] 1.9 4.7 7.9 73.6 50
m 6.0 10.2) 99.1) 2.7 2.5 3.5 3.5 4.6 5.3 6.9 65.9 40
1\ 13.3] 17.1 6.8 14.8 10.8 11.1| 10.6/ 10.7] 9.3 8.4 75.0 49
A% 17.8/ 20.4/ 13.7] 20.1 17.2] 16.6/ 15.9| 15.8 13.9] 11.7| 87.5 56
VI 21.9 24,5 17.6] 24.9 21.6] 20.5 20.0| 19.8 17.7| 15.2] 87.0 67
VI 25.0 28.4] 20.0] 29.00 24.7 24.1) 24.0| 23.7 20.8 17.1] 83.0 67|
VIl 25.00 28.0] 19.7) 28.0| 23.7] 24.0, 24.0| 24.20 22.2 18.8] 82.6 70
X 19.20 22.4) 13.8 21.0 17.9| 18.9| 19.0| 20.3 =20.4 19.0| 82.1 61
X 14.7 19.1) 8.6/ 11.8 11.7| 13.7) 13.6| 15.6 17.0 17.4 77.5 56
XI 9.4 13,5 3.00 5.2 5.8 8.3 8.4 10.9] 13.5 15.3 76.4 48
X 4.6 9.0, 98.70 0.6 2.3 4.2 4.2 6.7 9.7 12.4 76.5 42
1 12.9 6.6/ 7.4 12.6 11.3 12.1 12.00 13.1] 13.4 13.3 79.41 40
R s M 5 B
1 @) N w [ & | & mE| B |pw | x| x W RA| B | B
%qi:}%%g mA | X A b K = |Clear| Cloudy | Sunless| B L
I 0.5 7.1 16 1 0 0 9 14 0 20 3l
I 0.9 6.1 8 0 0 0 19 7 0 250 28
i} 0.9 6.7 3 0 0 3 11 15 0 16 15
v 0.4 5.7 0 0 0 6 2 18 0 3 2
Vs 0.6 7.5 0 0 1 11 2 26 0 0 0
VI 0.9/ 10.1 0 0 3 7 0 24 1 0 0
VI 1.0 7.3 0 0 6 2 3 19 0 0 0
VIL 1.0 6; 0 0 5 1 6 19 0 0 0
X 0.8 9.4 0 0 0 3 1 21 0 0 0
X 0.9 0 0 0 3 15 11 0 0 0
X 0.9 0 0 0 3 12 13 0 10 6
X0 0.9 6.9 2 0 0 2 17 13 o 22 17
45 0.8 29 1 15 141 97 200 1 96 99
* KEIHH

B (Fk) W 29, 80, IV 2, V 21, 25~27, VI 26, 31, VIl 1, 2, 11, 30, 31, XI 2, 24, 30
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i ] e B e vE B M R I
=, =N | A 2
v | v ¥ H R e Xk =& /& B B oK %
Sm| om | o® - 24w M &
(mm){ (mm) | & | = 5= (mm) (m%n) H |=0.1|=1.0| =5 | =210 | =50 | =100
0.5 6.1 21.5 7.1 5 14 6 1 0 0 0
1.0, 3.0 33.5  13.7 8 7 6 3 1 0 0
1.6 5.5 106.7]  32.3 28 9 9 8 5 0 0
2.0 7.4 205.5  71.8 8 13 9 8 7 1 0
1.3 8.9 332.3 76.5 16| 25| 20 15 13 1 0
1.8 8.8 276.0  63.8 6 18 15 13 8 1 0
3.90 7.5 137.8  40.0| 11 14 1 6 6 0 0
2.5 6.8 186.5| 35.5| 18 14 13 10 6 0 0
1.6 8.2 139.7,  69.6/ 25| 15 14 8 3 1 0
1.5 4.4 81.4  43.3 9 10 7 5 1 0 0
0.8 5.2 54.7  27.2 25 13 8 2 1 0 0
0.5 4.4 26.7 7.2 24 10 6 2 0 0 0
1.5 6.4 1602.3 76.5 V16| 162 124 81 51 4 0
H woE = "
[l §5[ &= )
#O|RE | K| BB
o + 8] B ® g = H ¥l H % H
(FB) (FE#m)
° a8 9 £ A | v &8 | #\
0 3 18 0 = oa KR >30° | 38 VI 22 38 i 14
1 16 2 4
” 3 o d B E K E | =250 | 8 |V 18 | 38 | XI 7
4 9 0 O B @m|m | <o0° | 87 | XU | 23 | 38 | IV | 11
6 0 0 1
" o o 5 % u 37 | X 16 | 38 | IV | 11
14 0 0 9 = i Ll 37 | Xt | 24 | 38 | V| 11
17 0 0 2
2 o o J = X 37 | XI 5 | 38 | I | 24
10 é ° o0 Ed = 38 I 4 38 m 13
1 19 0 0
a3 103 48 12 w5 7K H 37 XI 23 38 v 11
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W39 4 = %
- - H I ;
;F ? B ) i = (%) . i %)
B Gk
(mm) | gy | 8 8 | e [0.1m [0.2m |0.3m [0.5m | 1.0m |2.0m | Tz %EF%?
wim | K ORI
I 3.0 7.2 98.2 99.3 1.5 2.9 2.7 4.8 7.3 10.0 75.0 56
o 1.00 5.1 96.3 98.5, 0.8 2.2 1.9 3.9 5.9 8.1 75.8 54
il 5.2l 9.5 98.5 1.3 2.5 3.8 3.6 5.0 6.0 7.5 64.5 38
v 16.0 19.3 10.2| 16.8 13.9 13.4 12.7] 12.4 10.1 8.7] 81.0 52
4 18.4 22.5 10.2| 23.5 17.0 16.7| 16.6 16.5 14.2 11.8| 70.5 50
Vi 20.4 23.6 13.9| 24.6 19.8) 19.0l 18.8 18.8 16.7] 13.9 77.0 57
i 25.1 28.5 19.8| 28.1 24.5 23.4 23.2 22.8 20.0 16.7 84.6 73
VIl 26.6/ 30.0y 20.7] 31.3 25.3 25.6 25.7) 25.6/ 22.9 19.1f 80.2 63|
X 21.9) 24.9 17.3| 23.7) 21.0 21.6 21.6 22.5 21.8 19.6| 83.8 69
X 15.1] 18.6/ 10.0| 13.5| 13.1] 14.8 14.7 16.7 18.1] 18.4 79.7 55
XI 8.3 13.00 2.4 3.6 5.1 7.3 7.6 10.4 13.6 15.7] 75.9 53
b 4.0 8.4 98.7] 99.4 1.9 3.7 3.6 6.1 9.4 12.4 73.9 45
& 13.8) 17.6/ 8.0 13.6 12.2 12.9 12.7 13.8] 13.8 13.5 76.8 38
Al % M % A
A @O N & | & |am| s (w2 =[x w28 ® @
%q;llﬁ—};‘g Rl X | A b E4 = |Clear| Cloudy |Sunless| -« L L
I 1.1 4 o qd 4 w0 13 o 23 21
I 12| 7.8 d o o 4 10 18 o 21| 24
i 1.4 73 3 o0 0 3 10 16 o 21 20
v 0.9 87 o o 1 8 5 22 o o o
4 1] 71 o o 2 2 9 16 o o o
Vi 1.1 8.4 9 o 2 2 2 23 o d o
VI 0.8 84 0 O 3 4 4 23 o o o
VI 0.8 103 o o 4 2 s 15 1 o o
X 0.8 1420 o 0 4 3 & 20 2 o o
X 0.8 48 o o o 4 9 20 o o o
XI 0.9 54 0o 0 o 2 15 13 o 14 10
X1 0.8 57 2 1 o 3 16 14 o 24 22
4 1.0 15 1 16 41 101 213 3 103 97
* REA E -

HaE Geek) T, VI 17, X 31
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= 5 s 2 m o W Ok R W
we | v 7. - [ 7K = 2 3 B oK B3y
| wm | ® R 2 MW &
wh | R | = e B
(mm)| (mm) | & |#& 3t | HoE (mm) (mim) H |=0.1 =1.0] =5 | =10| =50 =100
0.6| 5.5 103.1 237 13 11 9 6 5 o 0
1.00 6.4 76.1  28.1 8l 10 5 5 4 0 0
1.6 6.2 110.0  36.0, 20| 15 9 7 5 0 0
1.8 7.7 192.1 867 26| 14 11 9 8 0 0
3.5 6.0 48.5 21.6 10 7 5 2 2 0 0
2.5 8.3 219.00  s1.00 18| 13 12 7 6 1 0
3.0 7.7 220.5 49.2] 18 15 13 9 8 0 0
3.2 6.7 110.0,  48.7 3 9 7 4 3 0 0
2.0 7.3 222.2 96.7 24 14 11 9 6 1 0
1.1l 6.8 127.0, 80.7] 13| 1§ 10 4 3 1 0
0.7 4.7 58.7|  28.6 9 9 8 3 2 0 0
0.5| 4.7 57.2]  31.8 23 8 6 3 2 0 0
1.8 6.5 1544.4 96.7 IX24 141 106 68| 54 3 0
# o -
\ G = K
FORE | K BB
o + 4 = ® B pEL] = H ) A % |
(HE %) (HEF0)
0 2 0 ! £ | A | 8 & H
0 24 2 d powmosa | | =00 | 39 | W 4 | 39 22
0 21 1 a
. o o d mEam | =] | V| 22| 21
21 o0 0 0 B m4®| (<o | 38 | X | 17 | 8 30
17 o o 2
5 J o o 7= X 38 | X 4 | 39 30
22 q © q = e L 3 | X1 | 17 | 39 30
1 o o 1
6 o0 o o = ¢ 38 | X1 | 27 | 39 27
8 1 0 9 = = 5 30 | I | 25 | 39 27
1 28 0 9
192 101 3 o # 5K L 38 | XI | 17 | 39 30
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Wof 40 4 = %
- S Hh 1 3
pl o B o 0 . " o
A Ok
(mm) | oy iié%j 5 | 1% 0.1m |0.2m|0.3m |0.5m | 1.0m | 2.0m | T iég%g
| R DIErh
I 0.6 5.1 96.00 97.77 0.3 1.7 1.6 4.1 7.1 9.9 748 49
I 1.1 5.4 95.7] 98.6/ 0.8 2.00 1.8 3.7 5.7 8.1 69.0 44
i} 3.8/ 8.6 96.71 0.2 1.5/ 3.0 2.8 4.4 5.7 7.4 58.1 38
v 10.1) 14.4 2.6 9.0 6.9 7.6 7.2 8.0 7.6 7.8 e3.8 30
% 17.6] 21.2] 9.7| 19.2 14.9 14.3] 14.0 13.9| 12.1 10.1] 70.5 41
VI 21.1) 24.2| 14.8| 24.5 20.3 19.2] 18.9 18.7 16.5 13.8| 80.8 62
VI 23.9 26.5| 19.1] 26.2 23.1) 22.5 22.1 22.1| 20.0 17.0 85.5 64
VIL 25.4 29.7 18.2| 32.3] 24.4 25.2 925.4] 25.3 22.5| 18.7] 71.1 56
X 20.1] 23.¢| 14.7] 21.0 18.5 19.7 19.7 21.1 21.00 19.2] 79.8 55
X 18.7] 19.1] 7.3 10.0 10.8 12.8 13.0 15.4] 17.4 17.8| 76.2 61
X1 10.5 14.3] 4.6| 6.8/ 7.6 9.4 9.4 11.7 14.1] 15.3 7s8.0 51
XI 3.1 6.6 98.6| 0.3 2.3 4.00 4.0 6.5 9.9 12.3 s85.2 66
foe 12.6) 16.6| 6.5 12.20 10.9] 11.8 11.70 12.9] 13.3] 13.1 74.4 30
P E A
H ™0 e[ ® [ = [ws] 5 (v |& % |5 w|56| & %8
;gﬁig A X 4 = Elear Cloudy‘Sunless —a ] Ll
I 1.0 9.3 7 0 0 2 16 13 o 26 26
I 1.2 6.9 10 0 1 2 10 11 o 19 23
m 1.5 7.1 6 1 1 | 12 12 o 23 24
v 1.3 6.9 2 0 0 5 8 18 o 10 8
A 1.1 7.1 0 0 3 3 6 20 0 0 0
Vi 0.8 8.0 0 0 3 4 5 21 0 0 0
VI 0.7 5.0 0 0 3 4 4 22 0 0 0
VI 0.9 8.0 0 0 0 o 14 1 0 0 0
X 0.9 163 0 0 1 3 7 16 1 0 0
X 0.8/ 6.5 0 0 0 0 17, 9 0 0 0
XI 1.0 6.9 0 0 0 3 11 14 0 8 5
X 0.8 7.6 6 2 1 7 7 23 o 17 19
iR 1.0 16.?'; 31 3 13 34 117 190 1 103 105
* REIB A

Bk BRI, X9
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4. ) Bt = a0 E CH AR ORI
K E=1 = { 2 3
v | v ¥ —_— (53 7} &7 g B B x B ¥
WE| om | ® R 24 B M R
wn | we | F e
(mm)| (mm) | & |#H (6% (mﬁm) B |=zo0.1l=1.0] =5 | =10 =50 | =100
0.6] 4.7 42,3 23.3] 29 12 5 3 1 0 0
1.00 5.4 59.5| 15.8] 200 11 8 4 2 0 0
1.9 4.8 46.8 19.6 23 10 5 3 2 0 0
2.00 6.5 145.3 34,9 20 17 11 6 5 0 0
2.4 7.0 285.00 99.71 26| 16 12 10 6 2 0
2.3 7.5 2509.8  72.00 200 15 14 9 8 2 0
2.2l 7.8 254.7)  40.3 of 19 19 14 11 0 0
4.4 4.6 14.8 9.6 22 4 2 1 0 0 0
1.7l 6.6 as2.5] 111.31 17l 15 14 10 8 2 1
1.6 3.6 97.4  63.5 14 8 8 4 1 1 0
0.7 5.7 74.9  19.8| 25| 14 11 4 4 0 0
0.4 7.4 90.2, 24.5| 28 17 13 6 2 0 0
1.8 6.0 1703.2 111.3 IX17 158, 122 74 50 7 1
, [ETIE A
#FO|RE | K| BB
o + H = o oM B OH ) H s H
(G2 (FEFm)
0 26 4 2 g r AR .
0 24 19 B« mi| | =00° | 4 | I | 16 ! 40 | W | 24
0 25 1 0
X 0 o J mEs| |z 0|V 9 | 40 | X | =20
6 0 0 f 4@\ | <0 |38 | X | 144 V 1
16 0 0 0
0 o 0 o 5 u 39 | X 7 | 0 | V | 22
2% 0 °© O = B | U |8 | X |15 | 40 | V| 22
16 0 0 0
2% 0 0 0 e P4 39 X 2 40 v 11
1 7 0 1 s = = 0 | 1 11| 40 | WM | 13
0 21 4 1
13 112 19 6 7 K K 39 X1 14 40 v 22




W OFl 36 4 & ®

v | & i iﬂ %) & w
£ T (©) ygg x (%)
(K m)
(mm) E oM Ei;? %ﬁ H1% |0.1m 0.2m |0.3m|0.5m |1.0m |2.0m | iy %gg%
I 4.5 8.4 1.2 3.4 2.6 2.5 4.3 7.2 9.5 13.9 61.5) 36
I 4.7 8.6 1.0 5.4 3.2 3.4 5.0 7.3 8.8 12.00 64.2 30
I 10.6 14.6/ 5.5 11.2] 8.6 9.6/ 10.2] 11.4 11.1 12.2] 79.9 62
v 16.5 19.8 10.9| 23.3' 15.6) 16.4] 16.4] 16.7 15.4 14.0| 80.4 42
\% 20.2 23.2 15.5 28.2 20.7| 21.1] 20.9] 20.9 19.5| 16.8] 86.5 75
VI 23.20 26.2 19.3[ 29.6 23.8 24.1| 23.9| 23.8 22.5 19.2| 87.3 75
VI 27.9| 381.20 24.3] 36.3 29.8/ 29.5| 29.1f 28.6| 26.6| 22.6| 88.9 77,
VIl 28.6) 32.2| 24.9) 35.7 29.8 30.11 30.2 80.4 929.9| 25.4] ss.3 71
X 27.20 31.3 22.70 29.9] 26.8) 27.7 28.4 29.1| 28.8 96.1| 84.2 75
X 21.1) 25.3| 18.0( 22.2| 20.4 21.5 22.2| 24.1 24.8 24.7| 84.7 67
X 14.8 18.5 11.1f 13.8 12.3 13.7] 15.4] 17.8 19.6| 21.5| 84.0 74
Xu 8.9/ 12.7) 4.7 6.4 5.9 6.9 9.2 12.4] 14.6 18.1] 77.7 67
i 7.4 21.0/ 13.3| 20.5| 16.6 17.2] 17.9] 19.1] 19.2] 18.9 80.6 30
& & P % H
8 (m/e) T % B WE| 5 b | R KT KRR | B | B
%ﬁg mR | X A b = ’Clear Cloudy | Sunless| U ]
4.4 18.6 2 0 0 20 5 14 4 4
43 16.5 2 0 0 14 7 13 0 0
3.5 13.2 0 0 0 16 9 9 0 0
3.3 19.0 0 0 0 13 8 13 0 0
3.1/ 20.5 0 0 0 10 8 6 0 0
3.2 24.1 0 1 0 10 9 12 0 0
2.1 9. 0 5 0 12 5 0 0 0
2.2 13.2 0 7 0 18 1 1 0 0
2.6 32.5 0 4 1 15 3 3 0 0
2.4 15.% 0 5 1 12 14 3 0 0
2.9 19.¢ 0 1 0 17 7 9 0 0
3.2l 11.5 0 1 o 24 2 5 1 0
3.9 228 4 24 9 181 78 8 5 4
ilp=Ns|

W ERR) I s, T 25 X 10, 15, XI 25, 26, 27 (Fd) I 25
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4 i B, FMmE Y MK B OE
£ 2 5 B Kk B
v | e ¥ — 3 7K & & B B oK ke
SR m | o# U TS 24w W &
-
(mm)| (mm) | & |#& I} {EHER (mm) (miin) H |=0.1]=1.0| =5 | =10 | =50 | =100
2.1 2.4 41.0, 22.3 3 11 6 2 1 0 0
2.5 3.8 35.5 20.9 6 7 4 2 1 0 0
3.2 4.3 102.7]  80.6] 26 9 9 5 4 0 0
4.1 4.1 282.2 80.0 14 9 9 6 6 3| 0
4.1 4.5 138.3  40.1 3 15 14 6 3 0 0
4.3 5.3 341.4 539 27 15 13 11 10 2 0
5.3 3.9 188.9]  53.6] 24 13 10 7 5 1 0
5.9 2.5 198.0 65.1 23 16 12 8 5 1 0
5.3 3.2 31.5 8.7 15 10 7 3 0 0 0
3.3 5.4 248.1 62.8 9 13 10 8 6 2 0
2.4 3.2 126.7|  s2.7] 21 8 7 4 4 1 0
1.9 1.4 26.6 16.9 17 3 3 2 1 0 0
3.7 3.7 1760.9 80.0{ IV14] 129 104 64 46 10 0
# o e
% = i
B KRE | KRB
~ + H 54 ® #woOow = 1 ) H # M
0 16 1 (A3 #m) (IB#m)
i A 5} 4 A B
0 11 0 w = ; o
2 Ean =30 3 | VI 12 | 36 X 5
0 3 0
o o ‘R ER =25° | 36 \% 2 | 36 X 20
® © 9 k& &R <0° | 35 XI 30 36 m 1
2 0 0
12 o o T L 35 | XI | 28 36 1 15
15 0 0 = * L 36 | 1 12 | 36 | I 15
11 0 0
" o o = PN 36 1 26 36 I 18
8 0 9 = = =]
6 3 0 ,
68 33 1| X o 36 I 1 36 | I 11
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Bof 37 4 = %

_— % o ] H (°C) » 15t i %) i3

s E 3 = ?
Bl Ok

(mm) FE B ZE T H13% |0.1m |0.2m |0.3m |[0.5m | 1.0m | 2.0m | F¥y ?EE

w=E | RE YN

I 5.3 9.0 1.4 1.8 2.7 3.3 5.4 8.3 10.5 14.7[ 78.5 62,
I 7.1 11.5 2.5 4.5 4.3 4.9 6.8 8.8/ 10.0, 13.0] 78.6 67
Jiig 9.9 14.3 4.5 9.4 7.4 8.5 9.8 11.1| 11.3 12.9% 77.9 66
I\ 15.00 19.2] 10.1f 19.7| 13.9] 14.9] 15.1] 15.5 14.6| 14.1} 81.3 71
\% 18.9| 22.1| 14.5| 23.4] 18.9] 19.4] 19.2] 19.1 17.9 16.5 87.7 73
VI 22.3] 24.9| 18.7] 28.20 23.3] 23.3] 23.0] 22.8 21.6] 19.3 90.8 77|
Vi 25.9 29.0] 23.3] 30.9| 26.7| 26.8] 26.5 26.2 24.6/ 22.1 94.5 87
VIl 28.6 33.00 24.4) 35.3] 30.2] 30.2 30.3] 30.1| 28.4 25.2] 94.0 81
X 25.7| 30.2 21.0| 29.1} 25.3] 26.2 27.2 28.4 28.1 25.9% 88.9 81
X 18.4) 22.9| 14.2| 19.6] 17.4) 18.6] 19.7] 22.1 23.5 23.9| 85.4 67
XI 13.4, 17.3| 11.9] 11.7} 10.9 11.9 13.5 15.9/ 18.3| 20.4| 84.1 68
XI 8.7 138.0 4.0 6.4 4.9 5.2 7.3 10.37 13.0] 16.6] 79.3 61
4 16.6/ 20.5/ 12.5| 18.3 15.5 16.1] 17.0 18.2 18.5 18.7] 85.1 61

M = HE 5 A
A @O N w | m wm| n | % |5 om|RR| B | B

%;}H?ﬁi'g B P4 A A Z = |Clear| Cloudy | Sunless | -« L ‘ LJ
I 3.7 13.2 3 0 0 1 0 19 4 9 5 0
I 3.9 18.0 1 1 (o] 0 0 18| 3 9 0 0
il 3.7 14.3 0 0 0 0 0 18 6 12 2 1
I\'% 3.4 21.1 0 0 0 0 0 11 11 11 0 0
\ 2.3 12.; 0 0 0 0 0 12 15 [ 0 0
VI 2.4, 10.8 0 0 0 0 3 5 14 1 0 0
VI 2.3 24.1 0 0 0 2 ] 7 15 3 0 0
Vi S.T 19.2 0 0 0 7 0 14 [ 5 0 0
X 2.3 14.9 0 0 0 0 1 18 5 4 0 0
X 1.9/ 18.0| 0 0 1 0 ¢ 9 12 0 0
X1 2.3 13.; 0 0 0 0 0 15 11 ; 0 0
X 2.8 18.; 0 0 1 0 ¢] 21 7 5 6 0
i 208 43 4 1 2 10 4 167 109 68 13 1
* REILA R

Fo# (Fiy) WM 3, L5, XI8, 9, 10 (&A) I 1, 3, 25 V 7, M 5 X8 9 10, 15, 16
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o H BB AR H Ok FOE
. % B 2 5 =
v | vz - — % 7K = s B B K b5y
S| om | om R 24 B M A&
%5 5 = g
(mm)| (mm) | & |@ 2t (e (mmy | B |201z10) 25 210 250 | 2100
2.0 2.5 35.5 28.8 1 5 2 1 1 0 0
2.9 2.3 5.1 3.2 8 4 2 0 0| 0] 0
3.0 3.5 65.7 13.0 20 12, 10 5 2 0 0
3.7 4.9 198.5 60.0 9 12| 11 9 7 1 0
3.5 5.6 292.6 86.6 27 15 13 7 7 2 0
3.5 6.9 434.9 8.0 7 16 14 14 11 d o
g
3.5 6.5 394.6 175.0 27 15! 13 8 7 3 1
6.0 4.1 136.8 99.5 25 11 8 3 2 1 0
5.2 2.9 54.6 37.0 17| 7 5 2 1 0 0
3.0 5.5 125.9 53.3 11 11 10 4 3 1 Ol
1.8 4.4 220.5 104.5 3 10‘ 8 5 4 1 1
1.8 2.8 72.7 39.7 15] 7 5 2 2 0 [6)
3.3 4.3 2036.7] 175.00 VI27| 125 101 60 47 1 2
e R ” -
, = | E %% [i
| | ok |
o + 5] = o #l il I TH 9! % H
[CZE) [(ZE0)
0 15 2 € A | m |'® | A8 | H
o) 12 1 [ °
EEAE | =s0° |3 | V|3 |3 | X | a
0 5 (0]
3 0 2 ﬁ f% §(:l: b =>25° 37 A\ 3 37 X 25
8 ° Y mEam | =0 | s | 1 | 17| s | I | 17
5 0 2
12 0 0 i% [} 36 X 11 37 I 8
17 0 9 = e Ll 37 | W 8 | 37 | W 8
17 0 0
8 0 1 5 P 37 I 24 37 i 16
3 0 o = -
1 5 0
74 37 gl K o 3 | XI | 2¢ 3 | I | 18
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W 88 4F & R
v B B - () " o
PR E: 7S & ’
(KD T onrr |
(mm) | oy | B S| e 0 1m 0.2m | 0.3m |0.5m |1.0m | 2.0m | T %ﬂgfﬁg
wE | R YN
I 2.9 6.6 99.3] 0.9 1.1 1.5, 3.6 6.7 9.7 13.6 80.1 49
I 4.8 9.3 0.1 2.4 1.8 2.5 4.3 6.7 8.4 11.7] 79.5 66
s 9.5 13.7 4.1 12.0, 7.0 7.8 8.5/ 10.0, 10.0 11.6 80.0 32
v 15.7| 19.6| 11.1f 20.5| 15.0/ 15.9 15.4| 15.8/ 14.4] 13.4] 86.7 60
A% 19.4 22.0| 16.5| 23.7] 19.7| 20.3] 19.6| 19.6| 18.2| 16.2] 92.3 80
VI 23.20 26.3 20.3| 27.3 24.0] 24.3 23.6 23.20 21.5 19.1] 92.3 79
VI 27.00 31.2 23.3 33.2 28.5 29.20 28.7| 28.0] 25.7 21.9 87.5 62
VIt 27.8| 32.2 23.9| 30.9 28.2) 28.8 28.6/ 28.9 27.5 24.2| 80.5 57,
X 22.8| 25.6 18.4] 23.1] 21.5| 22.7, 22.9| 24.7] 25.1] 23.9] 73.7 52
X 18.4] 23.1 14.3] 17.3] 16.3 18.0/ 18.1] 20.6| 21.5] 21.4[ 73.3 51
Xt 13,5 17.8] 8.3 11.1] 9.9] 11.3 12.0 15.4] 17.6] 19.0 69.8 46
XI 9.1 138.1 5.2 5.3 5.2 6.1 7.3 11.1 13.4 16.1| 67.6 48
o 16.20 20.0/ 12.1} 17.3| 14.9 15.7, 16.1| 17.6| 17.8 17.7| 80.3 32
o 3 % H
A @S " | g | & 2% & |8 x| 7 B R B B
%‘ﬁ@ wA| X A o 4 = |Clear| Cloudy | Sunless| -« 7 L L
I 4.2 14.9 8 1 o 25 4 17 1 0
I 4.1] 13.2 1 0 o 23 4 15 2 1
m 3.5 14.9 0 0 0 13 11 8 1 0
v 2.7 18.5 0 0 1 9 13 4 0 0
v 2.3 18.0 0 1 8 6 24 6 0 0
VI 2.0 13.2 0 0 5 5 20 2 0 0
VI 2.4 183 0 4 0 13 15 1 0 0
VI 2.7 29.8 0 7 1 8 14 3 0 0
X 2.0 12.2 0 0 6 12 15 2 0 0
X 2.0 18.2 0 0 0 12 12 1 0 0
X 2.6 15.5 0 1 0 18 5 2 1 0
XI 2.9 12.2 0 0 o 21 6 5 2 0
i 2.8 208 o 14 21 165 143 66 7 1
* RHEA |
FigEgER VI 9

B (P M9, VI 24 (k) M 9, IV 20, VI 24




A e BMamh R E B K OIS
2 = = | 7] H
s | 7 P Jit: xoOE B o5 B oK #
Bl x| # S 2% B M R
K - = wm =t
(mm)| (mm) | & |#& 3 HFHE (m%n) H |=0.1/=1.0| =5 | 210| =50 | =100
2.2 1.7 6.4 5.9 5 2 1 1 0 0 0
2.7 1.6} 25.9 12.1 8 3 3 2 2 0 0
2.6 4.5 158.7 40.2 12 10 10 9 6 0 0
3.1 5.6 134.3  46.5 15 12 9 7 4 0 0
2.2 7.8 377.00 107.0 16 23 21 17 12 1 1
*]
3.3 7.6 262.2 97.0 3 18 13 10 7 1 0
5.0 5.4 111.8)  25.3 10 15 14 8 5 0 0
4.8 6.1 154.8]  93.4 28 14 11 6 2 1 0
3.4 5.6 101.9)  56.5 25 12 12 4 2 1 0
2.8 5.0 123.7  66.0 9 8 7 4 3 1 0
2.1 3.2 69.2]  31.8 4 7 7 3 2 0 0
1.7 2. 37.0 13.2 2 6 6 3 2 0 0
|
3.0 4.7 1562.9] 107.00 Viel 130 114 74 47, 5 1
% .
Ho 2= = i
F | RE | K| B/E
o + Y ® #woo# F O ) 5} # H
0 26 (HEFm) (HEF)
ieey R H F A A
0 2 EE &R | =800 | 3 | VI | 17| 38| K 4
0 2
3 0 2 & & R =>25° 38 Vv 18 38 X 5
° 0 & & S iR < 0° | 38 1 1 38 I 23
1 o
P o 2 L 37 | X1 6 38 il 14
13 0 % tE L 38 | I | 27 | 8 | O | 27
13 0
6 o = % 38 I 4 | 38 I 26
5 0 i %= | =
2 5
49 56 fei K 5] 37 | X 7 | 38 | I 6
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% i H 0) 16t % B
! (C) ‘ (%)
N % =
éiﬁzg iy | Fiy 240lH]
| L2 A | #E#E [0.1m [0.2m [0.3m |0.5m | 1.0m |2.0m | ¥y | EEE
e | R DEN
I 6.4 10.9 2.5 4.5 4.3 5.1 5.8 8.7 10.8 13.7] 71.2 50
I 5.00 9.9 1.6| 3.8 3.4 4.2 4.9 7.6 9.1 11.6] 64.5 22
m 9.2 13.2 7.1l 8.4 6.3 7.5 8.1 9.8 10.1] 11.4] 66.5 48
I\ 17.8 21.9 14.1 21.1] 17.7 18.0, 17.4] 17.0, 15.0| 13.4| 78.4 56
% 20.6] 25.1 14.3 25.1 21.3 21.3 21.1 20.8| 19.0 16.4] 75.4 53
VI 22.5 26.5 18.2] 25.4 23.3 23.1 22.9 23.0 21.6| 18.9| 77.8 54
VI 26.9 30.5| 22.9| 31.5 28.1 27.9 27.6| 26.9 24.70 21.3| 82.5 68
VI 29.2] 32.8] 24.4 32.6) 29.4) 29.7| 29.4] 29.3| 27.4, 23.5| 78.5 59
X 24.8 29.0] 20.9| 26.1 24.7 25.1 25.3 26.1 26.3 24.0] 79.2 62
X 18.7 23.0] 14.2 18.0, 16.9 18.1 18.3 20.9| 22.0| 21.9| 76.7 61
XI 13.0 17.8 7.9 10.4 9.4 10.5 11.7 15.7 17.7] 19.3| 8.8 52
XI 8.3 12.7 4.3 5.1 4.8/ 5.8 7.0 10.6 13.0 16.1] 69.2 56
% 16.9 21.1| 12.74 17.7) 15.8 16.4 16.6 18.0 18.1| 17.6| 74.1 22
& M ® A
A (mfe) % ||z |wE|3 w2 X|x mRR| B | B0
?ﬁﬁiﬁg BRI X | A | 4 Iz4 = |Clear| Cloudy |Sunless| - U LI
I 2.8 17.1 1 1 o 14 13 6 0
I 3.4 14.9 6 0 o 15 13 5 1
iig 3.5 14.2 0 1 o 18 6 12 0
v 2.4 13.9 0 0 9 6 18 7 0
\% 2.3 14.5 0 0 1| 17 10 7 0
Vi 2.9 21.3 0 0 1 5 20 7 0
it 2.3 16; 0 0 10 14 13 3 0
VIl 1.5 10.1 0 1 9 - 14 6 1 0
X 1.5 0 2l 10 8 16 3 0
X I.E 7.6 0 0 1 8 13 0 0
XI 2.5 12.5 0 0 o 18 8 2 0
XI 2.7 11.5 0 0 o 19 8 1 1
4 2.5 7 5 41 156 144 54 2

*REAR, FHEEs 012, E# C4EfFE) 017, V18, 14, 15, 16, VI 15, 16, VI 9, 10,
VI 26, 27, 28, IX 4, 11, 12, 17, X 21, XI 30, & (k) I 17, V 138, 14, 15, 16, VI 15,
16, VI 9, 10, VIl 26, 27, 28, IX 4, 11, 12, 16, 17, X 13, 21, XI 30
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i E= A EAMEEK B ORE
% 7 = = Bl X R
va | 7 ¥ —— (&3 kK & = Bl & ok #
| om | o® LR o= 24 W W &
#n | | E AL
(mm)| (mm) | & | 3t 5o (mm) (mim) H |=0.1{=1.0f =5 | 210 | =50 | =100
1.3 4.8 130.1 26.2 16 15 14 7 6 0 0|
1.5 4.7 74.3 21.9 24 10 7 4 3 0 0
2.7 2.9 127.9 60.9 20) 13 10 5 4 1 0
3.1 7.2 115.9 49.3 10 13 10 6 3 0 0
4.8 3.9 82.3 43.9 10 7 5 4 3 0 0
3.8 7.5 224.1 67.3 27| 14 11 10 7 1 0
4.8 4.7 65.4 28.1 18 11 6 4 2 0 0
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X 14.3) 19.3 9.0 16.4 13.9 12.0| 77.5 53
X 8.9 14.7] 3.6 11.6| 13.4/ 13.8] 77.8 64
X1 3.1 7.6 98.3 7.20 8.9 11.2] 87.6 63
XI 97.3 0.9 94.0| 3.7 5.8 8.8 89.4 66
g 6.7, 11.7, 1.8 8.9 8.9 9.2 78.4 26
A 4 pis % Fi
A % % | & |%wE| 5 w2 x x om|8A|® B
%qj;lﬁli?g mA | ¥ A b | Z = |Clear| Cloudy | Sunless| - L
I 2 18 0 0 4 18 1
II 2 14 0 0 4 11 0
il 3 5 0 0 7 15 4
v 3 5 0 0 5 18 6 2
\% 3 1 0 0 10 17 6 0
VI 2 0 1 0 6 21 1 0
VI 2 0 0 2 4 23 0 0
I 3 0 0 0 0 23 1 0
X 3 0 0 0 10 12 3 0
X 2 0 0 0 10 16 0 6
Xt 3 5 0 0 6 19 4 7
XI 2 17 0 0 2 27 3
4 3 65 1 2 68 220 29
* KA A
EEZ IV, 2



159

# wEpe JbyEiEE AR L #
73 7 2 g ¥ % 7 B %
B ¥ S % K = &7 | F K
% | B PN 24 = i &
= = g
ml 2 e sl (mm) | & :
2 | o |Es® (mm) | B |Z0.1]Z1.0) =5 | 210| 250 z100
6.8 33.8] 27.4 2 23 1 1 1 0 0
6.0 48.3 22.2 24 17 4 3 2 0 0
6.3 71.9 18.0 31 11 8 5 4 0 0
%
.1 6.8 133.1 21.9 29 12 11 7 7 0 0
.0 6.0 152.8/ 75.8 31 11 11 6 4 ] 0
4.4 7.2 133.4]  43.5 14 11 9 8 5 0 0
3.9 7.9 167.3  388.7] 29 17 13 10 8 0 0
3.8 8.5 239.6 70.8 3| 18 16 8 6 1 0
2.5 5.4 186.5 87.3 22 20 17 12 5 0 0
.9 5.9 94.1 39.0 16 10 9 2 2 0 0
6.7 151.00  27.8 7 13 13 9 6 0 0
8.8 118.2 15.5 8 25 21 11 2 0 0
6.9 1530.0 75.8 V3i 188, 133 82 52 2 0
% i F o
= K BT
K =] ® # M % ) H # H
31 (FEA) (BEA)
4 A H ks A A
28 28 B oW & R | =30° | 38 | VI | 24 | 38 | VO 3
26
o B E QR =25° | 38 A 13 | 88 | X 1
0 & & AR <o0° | 37 X 5 38 \% 10
0
o 3 U 37 X 5 | 38 | IV | 27
° % B L)
0
3 o = N 37 X 17 | 38 \% 2
8 6 L ES 5 37 X1 13 38 v 12
16| 30
129 w5 ViN o 37 | X 5




160

WoOF 39 4 K %
7oyl K ® fi’l 0) i ®
A £ % =
gﬁrig iy | pay | 2415
Eo 525 | K 1% 0.1m |0.2m {0.3m |0.5m | 1.0m |2.0m | Eigy ?ﬁﬁf‘fﬁ
I 91.3] 96.3 86.7 2.2l 4.0l 7.0 85.9 66
I 87.7, 94.5 82.6 0.9 2.3 5.1 84.0 62
iid 97.5| 2.5 92.2 0.6{ 1.4 5.3 94.3 87
v 5.6/ 10.2] 0.1 2.4 2.2 4.2 73.2 37
v 13.8) 18.9 6.0 8.3 6.5 5.4 55.3 25
VI 16.3| 21.0 10.3 14.00 9.9/ 7.5 71.5 37,
VI 19.2 22.7| 13.4 16.6/ 13.5 10.2| 77.5 49
VI 20.3] 23.9 16.7 19.0, 16.3 12.0] 80.0 57
X 14.4] 18.5| 8.5 14.5 16.7) 16.5 14.5 80.1 53
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VI 2 0 0 0 0 1 24 5 0
X 2 0 0 1 2 8 18 4 1
X 2 0 0 0 1 11 17 6 10 6
X1 2 8 1 0 0 4 21 4 8
X0 2 23 0 0 0 3 26 5
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